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In the two sets given below, Set-1 provides the different levels of learning according to

Bloom's Taxonomy, while set-II gives their examples and concerns. Match the two sets and
select from the options to indicate your answer :

Set-1
(Levels of Learning)

(a) Memory level
(b) Understanding level
©) Analysing level
(d) Creating level
Options :

@ (O (c)
(1) a) @ (iii)
(2) (1) (i1) (111)
(3) av) () @
(4) @y Q) @)
Options:

E4535067299. 1
64535067300, 2
E4E35067301. 3
EAE35067 302, 4

@)
(11)
(111)
(v)

(d)

(iv)
@av)
(i)
(i)

Set-I1
(Examples)

Identifying examples of a given concept
Generating new ideas
Recalling information

Isolating information into parts
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64635067299,

1
EAE35067200. 2
E4E35067201. 3
BAE35067202. 4

Question Number : 2 Question Id : 64635017132 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0
Diagnostic Evaluation ascertains

(1) Students performance at the beginning of instructions
(2) (Causes and remedies of persistent learning problems during instructions
(3) Degree of achievement of instructional objectives at the end

(4) Learning progress and failure after instructions

Options:

48350673203, 1
E4E35087204. 2
64535067205, 5
45350672306, 4
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Options:

645350673203, 1
64535067304, 2
E4E35087205. 2
E4E3E087206. 4

Question Number : 3 Question Id : 64635017133 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Among the following which one1s an example of instructional software?

(1) Audio podcast

(2) Printed material or book
(3) Radio talk

(4) Edusat

Options:

4635067207, 1
645350673208, 2
64535067209, 2
E4E35087210. 4

Question Number : 3 Question Id : 64635017133 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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6435067207, 1
EAdEZE0E7Z308. 2
E4BZE0E7Z2089. 3



EAE35067210. 4

Question Number : 4 Question Id : 64635017134 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Which teaching aids enhance the skills like reading, listening and pronunciation?

(1) Audio-lingual teaching aids (2) Scientific teaching aids
(3) (General knowledge teaching aids (4) Theoretical based teaching aids
Options:

EAE350672311. 1
BAE35067212. 2
E4E35067213. 3
64535067314, 4

Question Number : 4 Question Id : 64635017134 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350672311, 1
64535067312 2
E4E35067213. 3
EAE350672314. 4

Question Number : 5 Question Id : 64635017135 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



From the list given below identify the instructional events which form part of the structure
of a lesson plan. Select your answer from the options given below the list

List of instructional events :

(1) Gainming attention of students

(11) Prior knowledge of students

(i11) Informing the learner of the objectives

(1v)  Stimulating recall of pre-requisite learning

(v) Checking the availability of reading material in the library.
(vi)  Eliciting the desired response

Options :

(1 @ ay )  av)
(2) @) @y vy )
(3) @ @@ W (vi)
4) @) ) @) @)
Options:

64535067315,
64535067316,
4835067317,
E4E3506721E.

[ N
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646350673215, 1
E4E3S0873216. 2
64535067217, 5
64535067218, 4

Question Number : 6 Question Id : 64635017136 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Think-aloud procedure is

(1) a part of secondary source of data
(2) a technique used to investigate learner strategies and performance
(3) a strategy of testing learners’ aptitude by providing primary sources

(4) a necessary method in scientific research

Options:

64535067219, 1
64535067320 2
E4E35087321. 2
E4E3E0E7322. 4

Question Number : 6 Question Id : 64635017136 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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64535067219, 1
E4E35087320. 2
E4E350873221. 2
4535067322, 4

Question Number : 7 Question Id : 64635017137 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Participant observation is a part of

(1) Philosophical research
(2) Mentalist Theory of language
(3) Mathematical research
(4) Ethnographic research

Options:

64635067323, 1
64535067324, 2
64535067325 2
E4E35087326. 4

Question Number : 7 Question Id : 64635017137 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535067323, 1
E4E35087324. 2
E4E35087325 2
64535067326, 4

Question Number : 8 Question Id : 64635017138 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Plagiarism in research is

(1) Creative use of previous data

(2) Copying unscrupulously and malking use of 1t

(3) Quoting someone and citing him/her

(4) Referring to previous data and working over it with new objectives

Options:

64535067327, 1
E4E3508732E8. 2
E4E35087329. 2
64535067220, 4

Question Number : 8 Question Id : 64635017138 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635067327, 1
64535067328, 2
64535067329, 2
48350873220 4

Question Number : 9 Question Id : 64635017139 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A university teacher plans to study the effect of level of aspiration of students in terms of
their socio-economic background on their scholastic performance at the term end evaluation
conducted by an external testing agency. What 1s the dependent variable in this study?

(1) Level of agpiration of students (2) Socio-economic backeround of students
(3) Scholastic performance of students (4) Term end evaluation
Options:



EAE350672331. 1
BAE35067332. 2
B4E350672333. 3
64535067334, 4

Question Number : 9 Question Id : 64635017139 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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64535067331, 1
EAE35067332. 2
EAE35067333. 3
EAE35067234. 4

Question Number : 10 Question Id : 64635017140 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Critical language testing 1n a research report 1s

(1) Testing language from an ethical point of view, revealing 1ts misuses
(2) Evaluating the stylistic characteristics of language

(3) Critiquing the ideology of the author

(4) Observing the gender role played by language

Options:

646350673235, 1
64535067336, 2
64535067337, 2
E4E35087338. 4

Question Number : 10 Question Id : 64635017140 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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EAE35067335. 1
BAE35067336. 2
BAE35067337. 3
64535067338, 4

Sub-Section Number: 2
Sub-Section 1d: 646350824
Question Shuffling Allowed : Yes

Question Id : 64635017141 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension

Unquestionably a literary life 18 for the most part an unhappy life, because if you have
genius, you must suffer the penalty of genius; and if you have only talent, there are so many
cares and worries incidental to the circumstances of men of letters, as to make life
exceedingly miserable. Besides the pangs of composition, and the continuous disappointment
which a true artist feels at his inability to reveal himself there is the ever-recurring
difficulty of gaining the public ear. Young writers are buoyved up by the hope and the belief
that they have only to throw that poem at the world's feet to get back in return the laurel-
crown; that they have only to push as a new light 1in hiterature. You can never convince a
voung author that the editors of magazines and the publishers of books are a practical body
of men, who are by no means frantically anxious about placing the best literature before the
pubiec. Nay, that for the most part they are mere brokers, who conduct their business on the
hardest lines of a profit and loss account. But supposing your book fairly launches, its perils
are only beginning. You have to run the gauntlet of the critics. When you are a little older,
vou will find that criticism i1s not much more serious than the bye-play of clowns in a circus,
when they beat around the ring, the victim with bladders stung at the end of long poles. A
time comes in the life of every author when he regards critics as comical rather than
formidable, and goes his way unheeding. But there are sensitive souls that yield under the
chastisement and, perhaps after suffering much silent torture, abandon the profession of the
pen forever.

Sub questions

Question Number : 11 Question Id : 64635017142 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Literary life 1s unhappy because

(1) One has to carry the load of being a gemus while not being one
(2) The geniug can still remain a genius and be amidst misery in the face of adversity
(3) Talent brings pseudo happiness

(4) There 1= a constant desire to outshine others

Options:



EAE35067339. 1
BAE35067240. 2
B4E350672341. 3
4535067342, 4

Question Number : 12 Question Id : 64635017143 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Young authors aspire to

(1) Equate themselves to the established authors
(2) Remain content in their work only
(3) Achieve glory by their merit yet always in a hurry

(4) Become critics subsequently
Options:
64635067343, 1
£4635067344. 2
£48350687345. 3
64635067346, 4

Question Number : 13 Question Id : 64635017144 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The perception towards the publishers and critics in the above passage 1s

(1) That of a scathing attack
(2) That of sympathy
(3) That of generosity

(4) That of cynicism

Options:

4635067247, 1
64535067348, 2
64535067349 =
64535067350 4

Question Number : 14 Question Id : 64635017145 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Experience and age of an author

(1) Makes the author stoic to criticism
(2) Makes the author angry and lovely
(3) Turns the author to a buffoon

(4) Drives the author to cynicism

Options:

64635067351, 1
64535067352 2
64535067353 2
4835087354 4

Question Number : 15 Question Id : 64635017146 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The effective way of tackling criticism 1s

(1) To defend onesel f through print media
(2) To be vocal about one's craft
(3) To become a critic of one's own art and start analysing i1ts merit

(4) To be gracefully glued to the artistic exercise

Options:

64535067355 1
64535067356, 2
64535067357, o
64535067358, 4

Question Id : 64635017141 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension
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Sub questions

Question Number : 11 Question Id : 64635017142 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635067339, 1
E4E35087240. 2
64535067241, 5
4535067342 4

Question Number : 12 Question Id : 64635017143 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E4E35067343. 1
64535067244, 2
645350672345 o
64535067346, 4

Question Number : 13 Question Id : 64635017144 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

I TR H YRR AR SATeraeht & i geaEfien w vE 2,

(1) o= A=A 7

Q)  HEFMfa &

(3)  @mEar W

@  ameliar @
Options:

E4E35067347. 1
EAEZ5067348. 2
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Correct Marks: 2 WrongMarks: 0
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Options:
4535067351, 1

EAE35067352. 2
EAE35067 353, 3
EAE350672354. 4

Question Number : 15 Question Id : 64635017146 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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4535067355 1

E4E35067 356, 2
EAE35067357. 3
EAE350672358. 4

Sub-Section Number: 3
Sub-Section Id: 646350825
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635017147 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following are barriers to effective communication?
(a) Physical noise (b) Semantic noise
(c) Psychological noise (d) Non-semantic noise

Choosge the correct answer from the options given below

(1)  (a), (b) and (d)
@  (a), (b) and (¢)
3  (a), © and (d)
(4) (a) and (d) only

Options:

64535067359, 1
E4E350873E0. 2
E4E3E0E72E1. 2
4535067362, 4

Question Number : 16 Question Id : 64635017147 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64635067359, 1
64535067360, 2
64535067361, 2
E4E350E73E2. 4

Question Number : 17 Question Id : 64635017148 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Non-<content behaviours such as rate of speaking, loudness, tendency to interrupt and

pronunciation peculiarities’ are referred to as behaviour.
(1) Extra-personal (2) Animated

(3) Extra-linguistic (4) Involuntary
Options:

BAE35067363. 1
BAE35067264. 2
64535067365, 3
E4535067 366, 4

Question Number : 17 Question Id : 64635017148 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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EAE35067363. 1
BAE35067264. 2
B4E35067265. 3
64535067366, 4

Question Number : 18 Question Id : 64635017149 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0

In a classroom, delayed feedback can happen due to

(1) Use of technology (2) Ezxpanded communication
(3) Semantic noise (4) Partiapatory environment
Options:

EAE3S0673E7Y. 1
EAE35067 368, 2
EAE35067369. 3
BAEZ50672370. 4
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EAE35067367. 1
BAE350672368. 2
64535067369, 3
4535067370, 4

Question Number : 19 Question Id : 64635017150 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0

In analog communication, contents are considered to be

(1) Convergent (2) Static
(3) Physical (4) Ethereal
Options:

E4E35067371. 1
BABIS0E7372. 2
BAE35067373. 3
BAE35067374. 4

Question Number : 19 Question Id : 64635017150 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: O
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Match the following :

Set-l Set-11
(Communication elements) (Description of process part)
(a) BSender (1) Brain
(b) Receiver (11) Electro-magnetic impulses
) Message (1m)  The central nervous system
(d) Medium 1v) Sensory organs

Choose the correct answer from the options given below

@ (b (©) (d)

(1) @ (i) (i1) av)
(2) ) @ av) ()
(3) av) @ (11) (i11)
(4) @ Gv @ Q)
Options:
64535067375,
E4E3506737E.

EABZS0E737Y.
EAE3IS067 378,

o LIRS

Question Number : 20 Question Id : 64635017151 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



¢ gHfeTa i

gz - 1 gz - 11
(T3YT F aed) (seRH- 9T 1 faaa)
() HIUTH @) afEass
(b) =AIEH (i) AeraesFg e
(c) ®@ew (i) PR S T
(dy W (v) HaE
A=t e g frew # & adt 3w 9w

1 @-@, b -0), -0, d-av
@  (@-@), b)) -0, ©-av), d - @)
@) @-av), (b -Q), ) - @), (d) - (u)
@  (@-), ®)-av), ©-an), d -0

Options:

64535067375, 1

64535067376 2

EAE350E737Y. 3
EABE3S0E737E. 4

Question Number : 21 Question Id : 64635017152 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Choose the missing term out of the given alternatives

TEF, UGH, , WKL
(1) CMN
2 UJ
3  VIJ
4  IJT
Options:

BAE35067375. 1
64535067380, 2



EAE35067381. 3
BAE35067382. 4

Question Number : 21 Question Id : 64635017152 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e fou o fasen & faa wum 6 qfd Fifomg
TEF, UGH, , WKL
(1) CMN
@  UJI
3 VIJ
@ LJT
Options:

BAE35067375. 1
EAE350672380. 2
BAE350672381. 3
64535067382, 4

Question Number : 22 Question Id : 64635017153 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The sum of deviation taken from which of the descriptive statistical measure 1s always equal

to zero?

(1) Mean
(2) Median
(3) Mode

(4) Percentile
Options:
EdE3508¥3835. 1
4535067354, 2
64635067385, 3
4635067386, 4

Question Number : 22 Question Id : 64635017153 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Fefafiaa § o fora auiTers aifisrdl om 8 fae o feem #1090 923 3 g 2

(1)  weHH

(2)  HEATFHAN
(3)  SEEEA
(4)  wIdE =H

Options:
E4E35067353. 1

EAEZ5067 384, 2
EAE35067 2385, 3
BAE35067 2386, 4

Question Number : 23 Question Id : 64635017154 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If x and ¥ are two positive numbers and x 1s 25% greater than », what 1s the value of the

ratio>?

X

(1) 0.75 (2) 0.80
(3) 1.20 @ 125

Options:

64535067387,
4835067388,
E4E35067289.
4535067290,

o IR

Question Number : 23 Question Id : 64635017154 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A x o y T T T § N xy T 25% At 2@ 2w oHE B
x

L 075 (2) 0.80
@ 120 @ 195
Options:

EAE35067387. 1
E4E350672388. 2
64535067359, 3
E4E35067330. 4



Question Number : 24 Question Id : 64635017155 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

5% of the inhabitants of a village having died of malaria, a panice set in. During this, 20% of
the remaiming inhabitants left the village. The population is then reduced to 4750. Find the
number of original inhabitants

(1) 5000 2 5250
(3) 6250 (4) 7500
Options:

64535067391, 1
EAEZ50E7 392, 2
EAE35067393. 3
BAE350672354. 4

Question Number : 24 Question Id : 64635017155 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

foredt i % 5% FanfiEi & AeifEr § 9 @9 % d1e QU W HAGAE g T 39h qRA 9 AETiEn 3 9
20% < M SEH FT Ol M e afmrasy ma fi AR gew 4750 @ T T F g
AftaniET f @ 2

(1) 5000 (2) 5250
(3) 6250 4 7500
Options:

64535067391, 1
E4E350E7332. 2
EAE35067 393, 3
EAE35067394. 4

Question Number : 25 Question Id : 64635017156 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If the simple interest on a certain sum for 1 year 3 months at 8}2—% per annum exceeds the

simple interest on the same sum for 8 months at 7% % per annum by Rs. 45, then the sum is

(1) Rs. 600 (2) Rs. 800
(3) Rs. 6,000 (4) HKs. 8000
Options:

EAE35067395. 1
EAE35067396. 2
BAE35067397. 3
645350673395, 4

Question Number : 25 Question Id : 64635017156 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gfe foreft g=rafsn @1 aramor sars 84%% dfdad fi 22 4 1 ad 3 AE H 3041 & gaul w 8 HER H 7%
yfqad 6t sl 2 & 45% & Al g sar &, a1 g8 s 2

(1) 600 %. (2) 800=.
(3) 6000, 4) 8000 .
Options:

645350673395, 1
EAE3506 7396, 2
EAE35067397. 3
BAE3506723398. 4

Question Number : 26 Question Id : 64635017157 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If proposition ‘All pens are not pencils’ i1s taken to be True then which of the following
propositions can be False?

(1) All pens are pencils (2) Some pencils are pens
(3) No pen 1s pencil (4) Some pens are pencils
Options:

64535067399, 1
64535067400, 2
E4E35067401. 3
EAE35067402. 4

Question Number : 26 Question Id : 64635017157 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gfe aF aEg ol W e A8 2 F oo " formn Su at FAefafiaa 4 9 0 96 9 9 8@
Fﬁ'ﬁ’l%:

(1) ot o U 44 2 2 @ tFaa = )
@ R ol T AR A 2 @) % U i #
Options:

B4E35067399. 1
64535067400, 2
64535067401, 3
4535067402, 4

Question Number : 27 Question Id : 64635017158 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two premises with four conclusions drawn from them. Which of the
following conclusions could be validly drawn from the premises?

Premises :
(1) All fans are tubes
(i1) Bulbs are not tubes

Conclusions :

(a) Fans are not bulbs
(b) All tubes are fans
(c) Fans are bulbs

(d) No tube 1s bulb

Select the correct answer from the options given below :

D (@, b)© (2) (a)and (d)
(3) () only 4 (D), () and (d)
Options:

64535067403, 1
E4535067404. 2
E4E35067405. 3
EAE3506 7406, 4

Question Number : 27 Question Id : 64635017158 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A & e aey feu o #, ToAm =m feed gra fRe g e snan al & Fefofaa 8 S8 g
Ferd &9 w9 O wiH fou S Had 27

A A ;o () ot T oo F )
(i) sl gl A4 2|

Elea] 1 (a) UM ded A 21
by =ft == 9g 2
© U ¥od 21
(d) = i ZE e A 2
A o e Frwet § & wd s afe
(1) (@, b)), © 2 (a) ()
@) ¥ (a) @ ), ) R’ (d
Options:

64535067403, 1
64535067404, 2
64535067405, 3
EAE3506 7406, 4



Question Number : 28 Question Id : 64635017159 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
When subject and predicate of both the premises 1s same but they differ only in quantity, it

18 known as

(1) Subaltern

(2) Contraries

(3) Subcontraries
(4) Contradictories

Options:

64635067407, 1
64535067408, 2
64535067409, 2
48350687410, 4

Question Number : 28 Question Id : 64635017159 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Sl GHI ATaR Al < 32T AT faum gae 2, foeq 3t aen B 2 91 g9l TR &9 d ST St 2

(1) T

2  foufia g

@  3u-foula wg

(4)  femarar
Options:

64535067407, 1
64535067408, 2
EAE35067403. 3
EAE35067410. 4

Question Number : 29 Question Id : 64635017160 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Identify the reasoning in the following argument :

Writing on paper 1s similar to writing on the board’.

(1) Deductive
(2) Hypothetical
(3) Analogical

(4) Inductive
Options:
E4E325087411. 1
4035067412 2
64635067413 2
64635067414 4

Question Number : 29 Question Id : 64635017160 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Feffiad 9% # 9 $i vgam e e 7 g N2 waEd & wgu g |

(1) P
(2) g A
(3) G AT

(4) HATTHATHS
Options:
64635067411, 1
4635067412, 2
4535067413 2
64635067414 4

Question Number : 30 Question Id : 64635017161 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The proposition ‘All leaves are green’ is equivalent to which of the following propositions?

(a) No leaves are green
(b) No leaves are non-green
(c) No leaves are in other color than green

(d) No green is leaf

Select the correct answer from the options given below :

(1) (b), (c) and (d)
(2 (a) and (b)
(3) (b) only

@  (b)and ()
Options:
4835067415, 1
64535067416, 2
64535067417, o
64535067415, 4

Question Number : 30 Question Id : 64635017161 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



a% ared | oadl afvn gftd 27 Refafia # 3 R ok e % oedged 2

(@ g il el 2l A 2

b)  FE o =i gfarfza A8 2

© @iz Wl uxht g % sy s a2
@ g ot g, ot A 2

5y o o, faerent 6 & T e A

O O, e W@
@ @O
@ ¥« (a)

@ (b R (o)

Options:
4535067415 1

EAE3506741E. 2
EAE35067417. 3
BAE350674158. 4

Sub-Section Number: 4
Sub-Section Id: 646350826
Question Shuffling Allowed : Yes

Question Id : 64635017162 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label - Comprehension



Consider the following table that shows the total number of tickets sold of five movies P, Q,

R, S and T, across two cinema houses A and B on a particular day. In accordance with the
table, answer the questions that follow (Question 31-35) :

Sale of Movie Tickets Cinema house wise
Cinema
Movies
A B
P 200 2300
Q 350 400
R 250 1510,
S 200 350
T 400 250

Sub questions

Question Number : 31 Question Id : 64635017163 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The number of tickets sold of movie T' at Cinema house A 1s what percent of the number of
tickets of movie P sold at Cinema A?

(1) 220% (2) 200%
(3) 210% 4) 190%
Options:

BAE35067419. 1
BAE35067420. 2
64535067421, 3
4535067422, 4

Question Number : 32 Question Id : 64635017164 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the total number of tickets sold of movies @ and R together at both the Cinemas A

and B together?

(1) 1050
(2) 1200
(3) 1250
(4) 1350
Options:

EAE35067423. 1
EAE35067424. 2



EAE35067425. 3
BAEZ5067426. 4

Question Number : 33 Question Id : 64635017165 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the ratio of the number of tickets sold of movie P at Cinema B to the number of

tickets sold of movie @ at Cinema B?

(0 2:8
2) 314
B 1:2
(4) d:5
Options:
64535067427, 1
E4E35087428. 2
E4E35087429 2
64535067420, 4

Question Number : 34 Question Id : 64635017166 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the difference between the total number of tickets sold of all movies together at
Cinema A and the total number of tickets sold of all movies together at Cinema B?

(1) 180 (2) 170
(3) 150 (4) 160
Options:

64535067431, 1
64535067432, 2
E4E535067432. 3
EAEZE0E7424. 4

Question Number : 35 Question Id : 64635017167 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the average number of tickets sold at Cinema B for movies T and S together?

(1) 360 (2) 820
3 300 4) 840
Options:

E4E35067435. 1
EAE35067436. 2
BAE35067437. 3
B4E35067438. 4



Question Id : 64635017162 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehension

Fffiga arferer ot fa=m $ifse, S v f@em 7 w e - o i e - & d o= feedi-i ey,
An, v o1 & F BEwd fi o gen fi W auid 21 g9 aifde % aar wog@ e gl (vee g
31-35) % 3 difor:

formram feew-femal i sl
e ferraTeR
T Eil
ot 200 300
| 350 400
aw | 250 350
o 300 350
Gl 400 250

Sub questions

Question Number : 31 Question Id : 64635017163 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frarEr-v @ fhen-& 6 owl f1 15 fewd 6 gem = yfdea FAaEr-v @ Gea-dt < &= o0
femral =i wwean 6t qoFT § foar an?

(1) 220 yidwd (2) 200 yfdvE
(3) 210 yiqwd 4) 190 yfes@
Options:

64535067419, 1
E4E35067420. 2
EAEZ5067421. 3
BABZE0E7422. 4

Question Number : 32 Question Id : 64635017164 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



aHl Frmmedi-u, S sfl %1 e & Fon-a9 i fhon-aar i fishl 1 78 fewel 1 e @ e 27

(1) 1050

(2) 1200

(3) 1250

(4) 1350
Options:

E4535067423. 1
4535067424, 2
EAEZ5067425. 3
BAEZS0E742E. 4

Question Number : 33 Question Id : 64635017165 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ot W feen-dt 6t fasht $t 78 el 6t g = wuE fRmmEe- v fFen-ay e Geft &
fesrdl 6 qaT | ferar 2:

R 2:3
@ 3:4
@ 1:2
@ 3:5
Options:

BAE35067427. 1
BAE35067428. 2
BAE35067425. 3
64535067430, 4

Question Number : 34 Question Id : 64635017166 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

forre-v v g fyen w ot el i feht 6 13 el it wa den it Rearer-d o ga faen &
ot fecHi it fosht it 73 fewdl i v gen F e v feen 27

(1) 180 (@ 170
(3) 150 (4) 160
Options:

E4E35067431. 1
BAE35067432. 2
B4E35067433. 3



EAE35067434. 4

Question Number : 35 Question Id : 64635017167 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

forwre-sft ot fon-4t eiiv um $i e Ware skt $ 0 2w $1 sfoa gen feadf 22

1) 360 (2) 320
(3) 300 (4) 340
Options:

64535067435, 1
64535067436, 2
EABE350E743Y. 3
EAE3506743E. 4

Sub-Section Number: 5
Sub-Section I1d: 646350827
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635017168 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the following statement(s) is/are True in respect to ICT?
| i ICT is an acronym that stands for information and competitive technology.

Q : The effective use of ICT to support learning in the inclusive education exemplifies
good teaching for all learners.

(1)  Ponly (2) Qonly
(3) Both P and Q (4) Neither P nor @
Options:

BAE35067439. 1
64535067440, 2
64535067441, 3
4535067442, 4

Question Number : 36 Question Id : 64635017168 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fFrefafiaa 4 @ #a /w8 w9 g @ & % o d w12 2/77

P®) . A e uiEd 2, R aerd FeReE Ut st e (e vE giaer et
T 21
@ gurasi e § 2t sadR % fau 2 O & 1 avrdt soe ol SendiE F oo v a=s
ST %71 32E 2 |
1) % (P) (2 e Q)
@ (@) =@ aF 4) Fd @) HATd Q)
Options:
C4E2E087429 1
C4E2E087440. 2
LdEZE067 441, 2
C4EZEOEF442. 4

Question Number : 37 Question Id : 64635017169 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What 18 spyware 1in respect of computer software?

(1) Software that aims to gather information about a person without his'her knowledge,
and that may send such information to another entity

(2) Legitimate software that allows companies to monitor and supervise the computers of
their employees from a central location

(3) Software used to disrupt computer operation or gain access to private computer
systems

(4) A computer program hidden within another seemingly harmless program that
produces copies of itself and inserts them into another programs or files

Options:

4535067443 1
64535067444 2
64535067445 =
64535067446, 4

Question Number : 37 Question Id : 64635017169 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



YR HTF2AAE & e U TIrEagy 491 27

(1) &2 "iwee, o1 3299 U <Afad < 9i 8 30ehl STHA % 91 G=@1 U 1 2 @l 88 39

e ol g1 A FeRE 9 w2 |

(2) @2 a9 divedw, Al B9l #l Uk b ud 9 3k wHaiiEl & el o Faea i gut
e &l 2 |

(3) a8 G, e weg % uferen ® fGges w6 @ B weer yonelt 9% 9gw 9n % fog
39 foa S 2 |

@)  UF @ g amed g & arfd few o were sium, st s gfafaftien sam 2
AN T WU AT FEeH H Oy =T 2 |
Options:
64635067443,
64635067444,
64635067445.
64635067446

o IR

Question Number : 38 Question Id : 64635017170 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following best describes a wiki?

(1) A system that allows users to add information onto a website but does not change
any pre-existing information

(2) A system that allows collaborative modification of 1its content and structure directly
from the web browser

(3) A system that serves as a publically accessible personal journal for an individual
(4) A system that monitors the modification of content within a blog

Options:

4350674471

C4EZE0EF448. 2

EAE35067448. 3
EAE35067450. 4

Question Number : 38 Question Id : 64635017170 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fFefafaa 5 9 =9 fadh (Wiki) =1 399 e 2ar 2:

(1) & yonell, St ITERTRAlA] 1 Uh JaEEe 9 gl Sied adt 2, <ifee g | e e ot gemn
= fafda w3 81 &t |

(2) Ok qolel, S Gead ©9 3 e Ao A A% [Avaa o TRV IR araie B erat ot 2
(3) U 9UIel, S A & 8 A v safdana e & w1 1@ e wdt 2
4) U wunelt, St U sArT F oia Areied & FIRE S 2

Options:



EAE35067447. 1
6435067448, 2
64535067445, 3
64535067450, 4

Question Number : 39 Question Id : 64635017171 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Anjali's teacher uses VLE, a software tool designed to deliver courses online. The acronym
VLE stands for

(1) Video Learning Environment
(2) Visual Learning Environment
(3) Virtual Learning Environment

(4) Visual Local Environment
Options:
645350674511
64535067452 2
435067452 2
E4535067454. 4

Question Number : 39 Question Id : 64635017171 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wetel! 1 s SAeng TreE=dl WH i F fore dun fR e v atveds 3uer U § 3w
F1 2 | 21 ufiaef & vet § @ 9 9 2

(1)  difgal afFHT FHaEEse
2 oz afHin ez
(3)  Sd AR SHaEEEE
@) TS @ FaEEHE

Options:

64535067451, 1
E4E35087452 2
E4E35087453 =2
64535067454, 4

Question Number : 40 Question Id : 64635017172 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What 1s the decimal equivalent of binary number 11001107

1 102
@ 204
3 153
@ 5l
Options:

64535067455, 1
EAE35067456. 2
EAE35067457. 3
BAE35067458. 4

Question Number : 40 Question Id : 64635017172 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fg-=rha 1100110 =1 T9geH G¥HeTd FHT 27

1 102
@ 204
@ 153
@ 51
Options:

64535067455, 1
EAE35067456. 2
EAE35067457. 3
BAE35067458. 4

Question Number : 41 Question Id : 64635017173 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which are the examples of potential kinetic energy? Select your answer from the options
given below :

1) Water that 1s beluind a dam

(11) Radio signals

(i11)  An airplane idling on the runway
av) A satellite before it 1s launched
() A colled spring

(vi)  Heat harnessed from the oceans
Options :

(1) @, ), av) and (V)
(2) @, @), (1) and (v1)
(3) (@), Gum), Gv) and (v)

(4) (@), @v), (v) and (v)

Options:

64535067459,
64535067460,
4835067461,
4635067462,

o P

Question Number : 41 Question Id : 64635017173 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



freforfiaa @ @ #F 3 avey 1fas F= F 33 E:
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(i) a9 & fi 1 S
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(i)  GEAIY 92T g1 faHA

Gv) 92U H g Tt O 3wz

) Fefaa e
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fareu

Q) @, i), (v) # @)
@ ), @), (i) #N (Vi)
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Options:

64535067459, 1
E4E350874E80. 2
64535067461, o
4535067462, 4

Question Number : 42 Question Id : 64635017174 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Statement I : The Millennium Development Goals were adopted in the United Nations in
the year 2010

Statement II : Developing a global partnership for development was one of the Millennium
Development Goals.

Which of the above statements 1s/are correct?

(1) Only I

(2) Only IT

(3) Both I and II
(4) Neither I nor IT

Options:
64635067463, 1
E4E35087464. 2



EAE350674E65. 3
BAE3506 7466, 4

Question Number : 42 Question Id : 64635017174 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
4535067453 1

EAEZ5067 464, 2
EAE350674E65. 3
BAE3506 7466, 4

Question Number : 43 Question Id : 64635017175 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following conferences/summit 1s also known as UN Conference on

Sustainable Development (UNCSD)?

(1) The Stockholm Conference, 1972
2) The Rio de Janerio Conference, 1992
(3) The Johannesburg Summit, 2002

(4) The Rio + 20 Conference, 2012
Options:
EAE2E0874E7. 1
C4C25067408. 2
64635067469, 3
64635067470, 4

Question Number : 43 Question Id : 64635017175 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  &iwEm T, 1972

@  frear & sefien adie, 1992
(8)  SirEwgsri fraw o, 2002
(4  f=l +20 g9er, 2012

Options:

64535067467, 1
64535067468, 2
E4E35087469. 2
E4E35087470. 4

Question Number : 44 Question Id : 64635017176 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In the formation of surface Ozone, which of the following do play an important role?

(a) Oxides of mtrogen
(b) Oxides of sulphur
(c) Sunlight

() Carbon monoxide

Choose the correct answer from the code given below :

1) (&, b)), ©
@ (b)) @D
@ @ 0 @
@ (@), b) @

Options:

64635067471, 1
E4E3S087472. 2
64535067472, 5
64535067474 4

Question Number : 44 Question Id : 64635017176 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535067471, 1
E4E35087472. 2
E4E350E74732. 2
4535067474, 4

Question Number : 45 Question Id : 64635017177 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following belongs to the category of geophysical hazards?

(1) Infestation (2) Avalanches
(3) Invasive species (4) Diseases
Options:

64535067475, 1
EABE3S0E747E. 2
EAE35067477. 3
EAE35067478. 4

Question Number : 45 Question Id : 64635017177 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1)  mE (2) femam
(3) ATHMEF ST (4) st
Options:

E4dE250E87475. 1
EABZE0E747E. 2



EAE35067477. 3
BAE35067478. 4

Question Number : 46 Question Id : 64635017178 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

GIAN (Global Imitiative of Academic Networks) has been launched by Government of India
1n order to

(1) Encourage Indian Scholars to learn abroad
(2) Discourage Indian Scholars from researching in India
(3) Encourage global scholars engage with their counter parts in India

(4) Encourage global scholars to engage with Indian Scholars abroad

Options:

64635067479, 1
64535067480, 2
645350674381, 2
E4E350874382. 4

Question Number : 46 Question Id : 64635017178 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E350674749. 1
64535067480, 2
64535067481, o
64535067482, 4

Question Number : 47 Question Id : 64635017179 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following forms a necessary component of Conventional Education System
in India?

(1) Learming from books (2) Learning from the teacher
(3) Learning from thinlking (4) Learning through instructional material
Options:

E4E350674E53. 1



EAE35067454. 2
BAE35067485. 3
BAE35067456. 4

Question Number : 47 Question Id : 64635017179 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fefrfaga @ 9 v v 3 e ez & us AEvas ued 27

(1) gl ° HigA (2) o= o dign
@)  faaT | " (4) SFeTETHS Gl & wreEm o e
Options:

E4535067452. 1
EAEZ5067 454, 2
EAE35067485. 3
BAE3506 7456, 4

Question Number : 48 Question Id : 64635017180 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following five year plans of India has e1ven special emphasis on “Education
and Manpower”?

(1) Third Five Year Plan (2) Fourth Five Year Plan
(3) Second Five Year Plan (4) Fifth Five Year Plan
Options:

E4535067457. 1
64535067488, 2
EAE35067459. 3
EAE35067430. 4

Question Number : 48 Question Id : 64635017180 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fefefiga 9 @ ara & foem gemdfa gomn & e d aee i’ o fa @ foan mn

(1)  derd geadia e (2) el gl A
(3)  zudl g=EdE FeE (4) Rl vEEdi AeAT
Options:

BAE35067457. 1
B4E35067488. 2
64535067459, 3
E4535067430. 4



Question Number : 49 Question Id : 64635017181 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Brain drain problem which was dominant in the muddle of 20t Century in India 1s indicative
of which one of the following aspects?

1)  Lack of adequate facilities for advanced study and research in India

1) The capacity of the developed nations to buy the talent at a price beyond the means of
the developing nations

(111) Increase of population and under utilization of human research
Choose the correct option from below

(1) Only (1) and (111)
(2) Only (i) and (iii)
(3) Only (ii1)

(4) Only (1) and (1)

Options:

64635067491, 1
4535067492 2
64535067493 o
64535067494 4

Question Number : 49 Question Id : 64635017181 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) *aa (i) SN (jii)
(2) Fad (i) AN (i)

(3) Fae (iil)
(4) Fad (1) AT (i)
Options:

645350674391, 1
E4E35067432. 2
EAE35067433. 3
EAE350674394. 4



Question Number : 50 Question Id : 64635017182 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The premier organisation established 1n India to deal with capacity bullding and research in
planning and management of education in India and South Asia is

(1) ATU (2) SAARC University
(3) NUEPA (4) Nalanda Unmversity
Options:

64535067435, 1
EAE3506 7456, 2
EAE35067437. 3
EAE350674395. 4

Question Number : 50 Question Id : 64635017182 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

g A1 2o uyEr | e F FEeE o ydeq 6 gear w0 99 F 3Ry O 9nd § ©nfud R
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(1) uaE.g, (2) ar% gRafdd (SAARC University)
(3 w.gidu, (@) Awe fafvaenea
Options:

645350674395, 1
64535067436, 2
E4E35067437. 3
EAEZ5067435. 4
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Question Number : 51 Question Id : 64635017183 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List—I with List—II :

List-I List—II
(Theory) (Authors)
(a) Realist theory (1)  Herbert Marquis
(by Marxist theory (1) Immanuel Wallerstein
(¢) Liberal theory (i11) Hans Morgenthau
(d) Crntical theory (iv) Robert Keohane

Choose the correct option from those given below :
L (@) (b)-(); (c)-(u); (d)-1v)
2. (a)y-(v); (b)-(m); (¢)-(u1); (d)-(1)
3. (@) (b)-1); (©-v); (D))
4. (@) (b)~iv); (e)-D); (d)ii)

Options:
E4E35067499,

EAE3506 7500,
EAE35067501.
BAE35067502,

[ R

Question Number : 51 Question Id : 64635017183 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Telt-1 &1 GEi-11 T GAfed Sifong ;

TEt-1 I
() (TE®)

(a) faftre ad (i) ©IEC ARieY

(b) wriRT @ (i) SHGE Fae

(c) forawa @ (i) T AR

(d) fofeeaad (v) a2 Fie
f2u U Aeei 2 9 9e I &1 99 S ;

L. (@-); (b)) (e)um); (d)-(v)
2. (@-v); (b)) (e)(i); (1)
3. (@i); (b)ib); (e)—iv); (A1)
4. (@), (b)—1v); (o)1) (d)-(i1)

Options:

64535067499, 1
64535067500, 2
4535087501, 2
64535067502, 4

Question Number : 52 Question Id : 64635017184 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List-II :

List-I List-II
(Strategic Thinkers) (Theory)
(a) Barry Buzan (1)  Heartland
(b) Joseph Nye (11) Realism
(¢) Hans Morgenthau (1) Soft power
(d) Halford Mackinder (av) Security

Choose the correct option from those given below :
L. (@-@); (b)iD); (c)(iid); (d)—(v)
2. (a)-(v), (b)y-(u); (e)-(1); (1)
3. (a)-{ui); (b)—1); ()1 (d)-av)
4. (@1 (b)), (e)1v); (d)—(11)

Options:
4535067503,

EAE3506 7504,
BA53506 7505,
BA53506 7506,

[ N I

Question Number : 52 Question Id : 64635017184 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L (a)-1); (b)-(i); (¢)—(iii); (d)—(v)
2. (a)-v); (b)-(m); (e)-(w); (d)-(1)
3. (a)-ui); (B)-(); (c)1); (D-Gv)
4. (a-); (b)-(ii); (e)(iv); (d)i)

Options:

64535067503, 1
E4E35087504. 2
E4E35087505. 2
4535067506, 4

Question Number : 53 Question Id : 64635017185 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List=I with List=II :

List-I List—II
(Borders) (Countries)
(a) Durand Line (1)  India-Pakistan

(b) Line of Actual Control (LoAC) (1)  Pakistan-Afghanistan
(¢) Line of Control (LoC) (1) India-China

(d) 38" Parallel (1v) North Korea-South Korea

Choose the correct option from those given below :
L. (@)-); (b)-(m); (c)-{1); (d)-Qv)
2. (a)y-(u); (D)), (c)-(v); (d)-11)
3. (@) (b)(1); (e)Hi); (d)-(v)
4. (a)-Qv); (b)—(); (e)-(it); (D)

Options:

4635067507, 1
64535067508, 2
64535067509 =
64535067510, 4

Question Number : 53 Question Id : 64635017185 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L (a)-); (b)-(1i); (e)—(1); (D-(v)
2. (a)p(); (b)—a); (c)Hav); (d)-()
3. (@) (b)) (e)-m); (d)-Gv)
4. (a)-Gv); (b)-(); (o)-(u); (d)-1)

Options:

64535067507, 1
E4E3508750E8. 2
E4E35087509. 2
64535067510, 4

Question Number : 54 Question Id : 64635017186 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the correct meaning of the statement that democratic peace theory stands for :
1.  Democracies not going to war with other countries
2. Democracies not going to war with fellow democracies
3.  Democracies seeking economic cooperation in their sovereign relations

4. Leaders in democratic countries are influenced by political harm

Options:

64535067511, 1
E4E35087512. 2
E4E35087512. 2
64535067514, 4



Question Number : 54 Question Id : 64635017186 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535067511, 1
64535067512 2
E4E35087512 2
4535087514 4

Question Number : 55 Question Id : 64635017187 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Robert Cox defines critical theory as which of the following?
1.  An attempt to challenge the notion and construct of power

2. Anacceptance of the parameters of the present order and critiquing it
within those parameters

3.  Aftempts to challenge the prevailing order, by seeking out social processes,
that could lead to anticipatory change

4. Acceptance of the parameters of the present order and helping to legitimize
an unjust system

Options:

64835067515, 1
64535067516, 2
64535067517, o
64535067518, 4

Question Number : 55 Question Id : 64635017187 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
E4E3E087515.

1
EAE3506751E. 2
EAE35067517. 3
BAE35067518. 4

Question Number : 56 Question Id : 64635017188 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who propounded the concept of ‘Ethno-Symbolism™?
1. Emnst Gelner
2. Anthony D. Smith
3.  Samuel Huntington

4. Erncs Hobswam

Options:

64635067519, 1
64535067520 2
4835087521, 2
4535067522, 4

Question Number : 56 Question Id : 64635017188 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4835067519, 1
E4E35087520. 2
64535067521, o
4535067522 4

Question Number : 57 Question Id : 64635017189 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is NOT a ‘Non-State Actor’?
1.  Multinational Corporations
2. Inter-Governmental Orgamzations

3.  Non-Governmental Orgamzations

4. Lobby Groups

Options:

64835067523, 1
E4E35087524 2
64535067525, o
4535067526, 4

Question Number : 57 Question Id : 64635017189 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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3. TR-IH 9eH
4. TE (R 998




Options:

64535067523, 1
E4E35087524 2
E4E35087525 2
64535067526, 4

Question Number : 58 Question Id : 64635017190 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The New International Economic Order (NIEO) comprised of a series of proposals
made by the Less Developed Countries (LDCs), calling for changes that would
accelerate economic growth and make trade-based development more fairer for the
LDCs. To that extent, the NIEO represents which one of the following?

1.  An endeavour at restructuring the economic system after the end of the
Cold
War

2. A demand by the affluent countries to change the International Economic
System to make it fair and objective

3. The demand of the ‘Global South’ to restructure the International Economic
System

4. The changing International Econormc System based on Technological
Revolution
Options:
64635067527 1
64635067528, 2
64635067529, 3
64635067530, 4

Question Number : 58 Question Id : 64635017190 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635067527, 1
64535067528, 2
64535067529 2
E4E35087520. 4

Question Number : 59 Question Id : 64635017191 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(nven below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) :  The emphasis on Power Politics in Realist Theory of International
Relations has been found in the works of Thucydides, Sun Tzu and
Machiavelli respectively.

Reason (R) . The idealistic view of human nature and the possibilities of human
progress propounded by the liberals 1s rooted in the works of Kant,
Locke and Rousseau.

In the context of the above two statements, which of the following is correct?

1 Both (A) and (R) are not correct
2 (R) 1s correct but (A) is not correct
3.  Both(A) and (R) are correct
4. (A)1s correct but (R) 1s not correct
Options:
64635067531, 1

BAE35067532. 2
64535067533, 3



EAE35067534. 4

Question Number : 59 Question Id : 64635017191 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

CAEZEE0EFEZE1. 1

CAEZEQEFEZZ. 2

EAEZ5067533. 3
EAE35067534. 4

Question Number : 60 Question Id : 64635017192 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which year the ‘Third Reich’ was established in Germany?

1. 1914
2. 1919
3. 1933
4. 1944

Options:

648350675351
E4E3508753E. 2
64535067537, o
64535067538, 4



Question Number : 60 Question Id : 64635017192 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

for 8 ST US g B WU BTS2
. 1914
2. 1919
3. 1933
4. 1944

Options:

64635067535, 1
64535067536, 2
64535067537, 2
E4E3508753E. 4

Question Number : 61 Question Id : 64635017193 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following events compelled the French Colomalists to exit from
Vietnam?

e

Declaration of Independence by Ho Chi Minh on 2 September, 1945
2 [Dien Bien Phu Battle
3.  Tet Offensive

4. Parnis Accords of 1973

Options:

4535067559 1
64535067540, 2
64535067541, o
64535067542 4

Question Number : 61 Question Id : 64635017193 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535067539, 1
64535067540, 2
E4E35087541. =2
E4E35087542 4

Question Number : 62 Question Id : 64635017194 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Johannes Camphuys (1684-91) a scholarly colomal administrator belonged to
1.  the English Administration
2. the Spanish Administration
3.  the Dutch Administration

4.  the French Administration

Options:

4835067543, 1
E4E35087544 2
64535067545, o
4535067546, 4

Question Number : 62 Question Id : 64635017194 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g IuHael UTEE SieE $RhY (1684-91) fHa defad u1?

1. S v
2. T ORI
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Options:

64535067543, 1
E4E35087544 2
E4E35087545 =2
4535067546, 4

Question Number : 63 Question Id : 64635017195 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which one of the following South-East Asian Countries was given its independence as
early as 1935 by Franklin Roosevelt?

i Indonesia
2 Burma
3. Vietnam

4. The Philippines

Options:

64635067547, 1
64535067548, 2
64535067549 =
E4E35087550. 4

Question Number : 63 Question Id : 64635017195 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Thafor wadee gl fRafarad cferr-ud uRmmg o= ° 3 gt 1935 | w@rdi= fear man
1. SsHfRmE

2. §H
3. fagam
4. T edidg

Options:

64535067547, 1
64535067548, 2
4835067549 =2
4535087550 4

Question Number : 64 Question Id : 64635017196 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In which year was Indonesia’s nationalist orgamzation “Sarekat Islam’ established?
I. 1911
2. 1912
3. 1313

4, 1914
Options:
64635067551, 1
64535067552 2
64535067553 2
64535067554 4

Question Number : 64 Question Id : 64635017196 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
SSIMIRIATS APATG! ‘16 IRed Sd” &1 R &9 Ty §37

. 1911

z. 1912
3. 1813

4. 1914

Options:

4835067551, 1
E4E35087552. 2
64535067552, o
4535067554, 4

Question Number : 65 Question Id : 64635017197 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the regal titles the Thai King, Prajadhipok was conferred with?

1. RamalV
2. RamaV

3. Rama VI
4. Rama VII

Options:
4535067555 1



EAE35067556. 2
BAE35067557. 3
64535067558, 4

Question Number : 65 Question Id : 64635017197 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

YRS & o1 el &1 Fufafed # 9 R St -5 Uiy Ter $1 e
. WV
2. WV
3. TEVI

4. TMEVII

Options:

64535067555, 1
E4E35087556 2
E4E350875EY. 2
64535067558, 4

Question Number : 66 Question Id : 64635017198 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason(R) :

Assertion (A) :  Decolonization of Africa was one of the turning points in the post-
World War II period.

Reason (R) . By the sixties, many former African colomes achieved
independence and became members of the UN.

In the context of the above two statements, which of the following is correct?

jr—

Both (A) and (R) are true
2. Both(A) and (R) are not true
3. (A)is true but (R) 1s not true

4. (A)1s not frue but (R) 1s true

Options:

64635067550, 1
4535067560, 2
64535067561, 2
64535067562 4



Question Number : 66 Question Id : 64635017198 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64835067559, 1
E4E350875E0. 2
64535067561, 5
4535067562, 4

Question Number : 67 Question Id : 64635017199 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who coined the term “Third World™?

1.  Alfred Mahan
2. Alfred Savvy
3.  Francis Fukuyama
4. Joseph Nye

Options:

64635067563,

64635067564

1
2
EAE35067565. 3
BAE3506756E6. 4

Question Number : 67 Question Id : 64635017199 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4835067563, 1
E4E350875E4. 2
64535067565, o
4535067566, 4

Question Number : 68 Question Id : 64635017200 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following American Presidents took the cause of ‘Containment of
Communism’ as his policy?

L Franklin D. Roosevelt
2. Harmry Truman
3.  Dwight Eisenhower

4.  John F. Kennedy

Options:

4635067567, 1
64535067568, 2
64535067569 2
64535067570, 4

Question Number : 68 Question Id : 64635017200 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535067567, 1
E4E350875EE. 2
E4E350875E69. 2
64535067570, 4

Question Number : 69 Question Id : 64635017201 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Casablanca Conference of January 1943, held during the inter-war period, decided
to invade which one of the following countrnes?

1. Germany

2. Italy
3. Russia

4.  Japan

Options:

E4E35067571. 1
E4E3E0E7E72. 2
645350675732, o
4535067574, 4

Question Number : 69 Question Id : 64635017201 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

a8 1943 & ST 9T H g0 S9Teiol gy § Fufifed § ¥ feu 3w w
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1. o
2. gt
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4. SUE

Options:
42350675711

BABZIS0E7E72. 2
BAE35067573. 3
BAE35067574. 4

Question Number : 70 Question Id : 64635017202 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who among the following is recognized for introducing the concept of “Nationalism is
Group Spirit’?

I8 sir Arthur Keith
2. David Held
3.  Thomas Hobbes

4. Karl Marx

Options:

64635067575, 1
64535067576 2
64535067577, o
E4E350E757E. 4

Question Number : 70 Question Id : 64635017202 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fafafad & & fgs! vgar UyaR U6 St HIE 8 SEUR & Ugia & fre &1 ard
s

1. MR oY
2. cflst=
3. YHYgley
4. T A

Options:

64835067575, 1
E4E3E0E7E7E. 2
64535067577, o
4535067578, 4

Question Number : 71 Question Id : 64635017203 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Under WTO framework, when one country accords a certain trading privilege to
another country, it is duty bound to accord that same privilege to every other nation
within the WTO. This 1s called what?

1.  Most Favoured Nation Status
2.  Trade Integration Principle

3. Trade Diversion Mechamsm

4. Trade Distortion Element

Options:

64635067579, 1
64535067580, 2
64535067581, 2
E4E35087582. 4

Question Number : 71 Question Id : 64635017203 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fay sUR g9 (@=g, A o) H I & . 919 0% ¥ ol g oF @I B3 AUR
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2. oUR gHe BErd
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4. UR e aw

Options:

C4EZE0ETFET D,

CE4EZE0EFERED,

1
2
64535067581, 3
64535067582, 4

Question Number : 72 Question Id : 64635017204 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : A fundamental shift in America’s China policy 1s underway, as
illustrated by the trade war and the Indo-Pacific strategy.

Reason (R) :  The enactment of ‘Reciprocal Access to Tibet Act’ and ‘“Taiwan
Travel Act’ showcases the tougher line US toes against China.

In the context of the above two statements, which of the following is correct?

1. Both(A) and (R) are correct

2. (A)1s correct but (R) is not correct
3. (A)1s not correct but (R) is correct

4. Both (A) and (R) are not correct

Options:

64635067583, 1
64535067584, 2
E4E35087585. 2
E4E350E7586. 4

Question Number : 72 Question Id : 64635017204 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4. (A) IR R) T @ TR

Options:
4835067583 1
4535067554, 2



EAE35067 585, 3
BAE35067586. 4

Question Number : 73 Question Id : 64635017205 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Asserfion (A) :  The concept of energy security and energy independence refers as
much to the securing of steady and reliable supplies of energy
resources as it does to obtaining them at reasonable and stable
prices from diversified sources while developing, at the same time
the conventional and alternative sources for creating strategic
reserve at the domestic level.

Reason (R) : Rising Asian powers such as China and India as well as Japan and
South Korea are extending their areas of energy diplomacy and
also promoting connectivity projects in Central Asia, Africa and
Latin America.

In the context of the above two statements, which of the following is correct?
1.  (A)is correct but (R) 1s not correct
2. (A) 1s not correct but (R) is correct
3. Both(A) and (R) are incorrect

4. Both (A) and (R) are correct
Options:
64535067587, 1
64535067588, 2
64535067589, 3
64E35067590. 4

Question Number : 73 Question Id : 64635017205 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4835067587, 1
E4E350E75EE. 2
64535067589, o
64535067590 4

Question Number : 74 Question Id : 64635017206 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) :  The China sponsored Asian Infrastructure Investment Bank (AIIB)
and the BRICS pioneered the New Development Bank (NDB) as

an effort by the emerging economic powers to make the IMF and
the World Bank more accountable and ushering in an alternative
development funding paradigm.

Reason (R) . The IMF and the World Bank had been criticised of either ignoring

or lacking sensitivity towards the needs and interests of the
developing countries.

In the context of the above two statements, which of the following is correct?
1.  (A)1s correct but (R) 1s not correct
2. Both (A) and (R) are correct
3.  Both (A) and (R) are incorrect

4. (A) 1s not correct but (R) 1s correct

Options:
E4E3E087591.

EAEZS0E 7592,
EAE35067593.
BAE3506 75594,

[ N

Question Number : 74 Question Id : 64635017206 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535067591, 1
E4E35087592. 2
E4E35087592. 2
4535067504, 4

Question Number : 75 Question Id : 64635017207 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following legally binding regimes pursues the complete cessation of
nuclear tests?

1. NPT

2. CIBTL
3. MTCR
4. NSG

Options:

64835067595, 1
E4E3508759E. 2
64535067597, o
4535067598, 4



Question Number : 75 Question Id : 64635017207 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E4E35067555 1

EAE3506 7596, 2
EAE35067597. 3
EAE350675398. 4

Question Number : 76 Question Id : 64635017208 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who is the author of the book titleD Asia Pacific : Its Role in the New World Disorder?

1. M. S. Dobbs-Higginson

2 Chns Patten
3, Victor Purcell

4. W.E. Henthorn

Options:

64535067599, 1
E4E35087200. 2
E4E35087E01. 2
64535067602, 4

Question Number : 76 Question Id : 64635017208 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635067599, 1
64535067600, 2
64535067601, 2
E4E3S087E02. 4

Question Number : 77 Question Id : 64635017209 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange the following works in chronologically ascending order with the help of the
correct code given below :

(a) Unipolar Moment
(b)  End of History
(c) Geopolitics : From the Cold War to the 21 Century

(d) Sovereignty as Hypocrisy

Codes :
L. (), (), @), ()
2. (a,®),(©,@d
3. (c), (b), (@), (d)

4. (@),(c), (b, (a)

Options:

E4E35067E03. 1
64535067604, 2
4535067605, o
64535067606, 4

Question Number : 77 Question Id : 64635017209 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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L (b)), (), @),
2. (a),(b) () (d)
3. {c), (b), (@), (d)
4. (D), (o), (b), (a)
Options:

EAE35067603. 1
GAE35067604. 2
E4E535067605. 3
E453506760E6. 4

Question Number : 78 Question Id : 64635017210 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following in ascending chronological order by using the correct code given
below :

(@ EAS
(b) BRI
() AU
(d) ARF
Codes :
L. (@).(c), (@), (b)

2. (e (),d), W
3. (@), (D), @), (c)
4. (b),(c), (@, (a)

Options:

4535067607, 1
64535067608, 2
64535067609, 2
64535067510, 4

Question Number : 78 Question Id : 64635017210 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L (d), (0), (a), (b)

2. (c), (a),(b), (d)
3. (d), (D), (@, (c)
4. (b),(c), (D), (a)

Options:
EAEZE08YE07. 1

EAEZ5067E0E. 2
EAE35067609. 3
BAE35067E10. 4

Question Number : 79 Question Id : 64635017211 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following Non-Aligned Movement (NAM) Summits, advocated
withdrawal of foreign forces from Vietnam?

1. Cairo Summit, 1964
2. Lusaka Summit, 1970
3. Algiers Summit, 1973

4.  Colombo Summuit, 1976

Options:

4535067611, 1
64535067612, 2
64535067613, o
64535067614, 4

Question Number : 79 Question Id : 64635017211 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. Iy RER g, 1964
2. o9l RER 9®aE, 1970
3. el ReR gwies, 1973
4. Dol R IHEs, 1976

Options:

64635067611, 1
64535067612 2
64535067613 o
64535067614, 4

Question Number : 80 Question Id : 64635017212 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Arrange the following events in ascending order with the help of the given codes :
(a) 9/11 Terror Attack

(b) Withdrawal of Soviet troops from Afghamstan

(¢) ‘OBOR’ Initiative

(d) 26/11 Mumbai Attack

Codes :

p—

(a), (0), (¢), (@)
2. (d), (), (b), ()
3. (b)(a), (@, (c)
4. (c), (d), (@), (D)

Options:

64835067615, 1
4535067616, 2
64535067617, o
64535067615, 4

Question Number : 80 Question Id : 64635017212 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(c) 3.l 3. 3R’ ugd

()  26/11 4% gHal

T :
L. (@), (®), () (@)
2. (D, (), B), (@)
3. (), (), d, ()
4. (0),(d), (a), (b)
Options:

EAEZ5067E15. 1
EAE35067ELE. 2
BAE35067E1Y. 3
4535067615, 4

Question Number : 81 Question Id : 64635017213 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who among the following made the statement that * ‘the world is over-armed and peace
1s under-funded™’?

]. Kofi Annan

2 Boutros-Boutros Ghali
3. Ban-Ki Moon

4. Antomo Gutierres
Options:
£4E835067619. 1
64635067620, 2
64635067621, 3
646350687622, 4

Question Number : 81 Question Id : 64635017213 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
E4E35067619. 1

EABE3S0E7EZ0. 2
EAE350E7EZ]. 3
EAEZIS0E7EZZ. 4

Question Number : 82 Question Id : 64635017214 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason(R) :

Assertion (A) :  Blue economy proposes to integrate economy, social in¢lusion and
environmental sustainability.

Reason (R) . This strategy aims at developing maritime infrastructure to harness
ocean resources.

In the context of the above two statements, which of the following is correct?
1. Both (A) and (R) are correct
2. (A)1s correct but (R) 1s not the exact explanation of (A)
3. (A)1s not correct but (R) 1s correct

4.  Both (A) and (R) are not correct

Options:

64535067623, 1
64535067624, 2
E4E35087E25. 2
CE4E3E0E7E2E. 4

Question Number : 82 Question Id : 64635017214 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535067623, 1
64535067624, 2
E4E3S0E7E25. 2
CE4E3E0E7E2E. 4

Question Number : 83 Question Id : 64635017215 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who among the following strategic thinkers wrote The Prince?

1. Kautilya
2. Mackinder
3. Machiavelli
4. Henry Kissinger

Options:

64635067627

64635067628,

1
2
BAE35067E25. 3
64535067630, 4

Question Number : 83 Question Id : 64635017215 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E4E35067E27. 1

EAEZS0EFEZE. 2
EAE350E7E2T. 3
BAE35067630. 4

Question Number : 84 Question Id : 64635017216 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match List—I wath List-II :

List-I List-II
(Orgamsations) (Countries)
(a) Jaish-e-Mohammad (1) Symna
(b) ISIS (ii) Pakistan
(¢) Taliban (1) Central Asia

(d) Islamic Movement of Uzbekistan (1v)  Afghamstan

Choose the correct option from those given below :
L. (@), (0)HL); (e)-iv); (d)-(iii)
2. (a)y(in); (b)H1v); (e)—(ii); (d)-1)
3. (@-av); (b)-Q); (e)-(ur); (d)~(n)
4. (ay-(m); (B)1); (e)-(v); (d)~1)
Options:
64635087631, 1
64635067632, 2

BAE35067E33. 3
4535067634, 4



Question Number : 84 Question Id : 64635017216 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Telt-1 &1 GE-11 T FAferd i ;
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L (a)-u); (0)H); (e)-v); (d)-m)
2. (a)-(u); (B)-(v); (¢)-(m); (d)~1)
3. (@)-av); (b)) (e)in); (d)-(i)
4. (@) (b)H1): (e)-1v): (d){11)

Options:

64535067631,
64535067632,
E4E35067E33.
E4E35067634,

[ N

Question Number : 85 Question Id : 64635017217 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following made the statement that ‘‘national security is an ambiguous
symbol™*?

1.  Armold Wolfers
2. Francis Fukuyama
3.  Fleix E. Oppenheim

4. Willlam Connolly

Options:



EAE35067E35. 1
BAE35067E36. 2
EAE35067E3Y. 3
64535067638, 4

Question Number : 85 Question Id : 64635017217 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

37 § U8 et o § 1 < pita e oo gades vdfles 807

. SfFics Iiehd
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Options:

64635067635, 1
4535067636, 2
64535067637, o
64535067638, 4

Question Number : 86 Question Id : 64635017218 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What does ISR mean in the field of Information and Commumnication Warfare?

[

Intelligence, surveillance and revolution
2.  Information, standardization and reconnaissance
3. Intelligence, surveillance and reconnaissance

4. Information, systematization and rehabilitation

Options:

4635067639, 1
64535067640, 2
64535067641, =
64535067642 4

Question Number : 86 Question Id : 64635017218 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535067639, 1
64535067640, 2
E4E35087641. 2
E4E3E0E7E42 4

Question Number : 87 Question Id : 64635017219 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who among the following made the statement that “*strategic doctrine translates power
into policy™?
1.  Barry Buzan
2. Henry Kissinger
3.  W. Mitchel

4. Samuel Huntington

Options:

4835067643, 1
E4E35087544 2
64535067645, o
4535067646, 4

Question Number : 87 Question Id : 64635017219 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

4635067643, 1
64535067644, 2
64535067645 2
E4E3S087646. 4

Question Number : 88 Question Id : 64635017220 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The *QUAD’ grouping brings together which set of countries from amongst the
following?

1.  China, Japan, South Korea, Singapore

2. US, Japan, South Korea, Philippines

bt

US, Japan, India, Australia

=

US, Indonesia, Australia, New Zealand

Options:

4635067647, 1
64535067648, 2
64535067649 2
E4E3S087E50. 4

Question Number : 88 Question Id : 64635017220 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535067647, 1
E4E350E7E4E. 2
E4E35087549 2
64535067650, 4

Question Number : 89 Question Id : 64635017221 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What does the ‘Coffee Club’ set of countries at the Umted Nations represent?

1.  The concert of democracies, working for democracy promotion through the
UN

2. The movement that calls itself ‘Uniting for Consensus’, developing to
oppose the possible expansion of permanent membership at the UN
Security Council

3.  The group of countries working together to promote the concept of
‘Responsibility to Protect” through the UN

4. The collective of Brazil, Germany, India and Japan who reckon that they
make the strongest candidates for permanent membership at the UN
Security Council

Options:
4535067651, 1

EAE3S0E7ESZ. 2
EAE35067E53. 3
BAE535067654. 4

Question Number : 89 Question Id : 64635017221 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:



EAE35067651. 1
BAE35067E52. 2
E4E535067E53. 3
64535067654, 4

Question Number : 90 Question Id : 64635017222 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) :  Peace 1s not just the absence of violence, but one which creates
social justice. It implies creation of positive conditions that can
transform conflicts without violence and empathy into stable
political, economic and social structures in the society.

Reason (R) . The concept of peace-building mission is based on promotion of
sustainable development and peace, capacity building for peace
management and conflict resolution.

In the context of the above two statements, which of the following is correct?

1.  (A) is correct but (R) is not correct
2. (A)is not correct but (R) is correct
3.  Both(A) and (R) are correct
4. Both (A) and (R) are incorrect

Options:

64635067655, 1

64635067656, 2

BAE35067E5Y. 3
E4E35067658. 4

Question Number : 90 Question Id : 64635017222 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535067655 1
64535067656, 2
64535067657, o
64535067658, 4

Question Number : 91 Question Id : 64635017223 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which inter-sovereign grouping was created in the 21% century to specifically address
the 1ssues emanating from the Global Economic and Financial Crisis and towards a

coordinated management of the Global Economy?
1.  The Group of Twenty (G-20)
2. The BRICS Grouping
3.  The BASIC Grouping

4. The Group of Four (G-04)

Options:

64635067659, 1
64535067660, 2
64535067661, =
E4E3S0E7EEZ. 4

Question Number : 91 Question Id : 64635017223 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

2149 wrarsdt § 5w sfa:uywr 99 &1 1o 3w onfie ud fasiy S 9@ Ry aR ™
@Gﬁmﬁﬁﬁmﬁwéﬁﬁmﬂaﬂw%mﬁawﬁﬁmﬁ%mW?

1. fRgu e g=h (G-20)
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Options:

64635067650, 1
64535067660, 2
64535067661, =
4535067662, 4

Question Number : 92 Question Id : 64635017224 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The 1997 Declaration of Principles of Sustainable Ocean Governance 1s known as what
among the following?

1.  Stockholm Principles
2. Lisbon Principles
3. Rio Principles

4. Sustainable Development

Options:

E4E35067663. 1
E4E3E0E7EE4. 2
4535067665, o
64535067666, 4

Question Number : 92 Question Id : 64635017224 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
E4E35067EE3. 1

EABE3S0E7EE4. 2
EAE350E7EES. 3
EAE3S0E7EEE. 4

Question Number : 93 Question Id : 64635017225 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The Sustainable Development Goals (SDGs), which replaced the Millennium
Development Goals (MDGs), are prescriptions for sovereign state action for the period

| 2016-2020
2. 20162025
3, 20162050

4. 20162030

Options:

E4E35067EEY. 1
E4E3E0E7EER. 2
64535067669, o
4535067670, 4

Question Number : 93 Question Id : 64635017225 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. 20162020
2. 20162025
3. 2016-2050

4. 2016-2030

Options:
E4E35067EET.

EAE3S0E7EET.
EAE3IS0E7EET,
BAEZS0E7EYD,

[ N

Question Number : 94 Question Id : 64635017226 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following is not a ‘Specialized Agency” of the United Nations?
1.  International Atomic Energy Agency (IAEA)
2. Umnited Nations Development Programme (UNDP)
3. International Labour Organization (ILO)

4. World Trade Organization (WTO)

Options:

453506767 1.
4535067672,
64535067673,
64535067674,

o LI M

Question Number : 94 Question Id : 64635017226 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frafied ® @ oH-9 9ga T 31 1 Ay e 78 87
I SCTIR Qe Gl Gort (3%, 0.5, T
2. TFIRCS R STAW Wi (@ TF. 3 )
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Options:

64535067671, 1
E4EZS0E7E72. 2
E4E3E0E7E7Z. 2
4535067674, 4

Question Number : 95 Question Id : 64635017227 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following African sub-regional orgamsations, despite being an economic
cooperation mechamsm, was entrusted with responsibility for peacekeeping and peace-
making, to address the conflicts and humanitarian crises?

1.  Southern African Development Community (SADC)
2. Inter-Governmental Authority on Development (IGAD)
3. East African Commumty (EAC)

4. Economic Community of West African States (ECOWAS)

Options:

64535067675, 1
4535067676, 2
64535067677, o
64535067673, 4

Question Number : 95 Question Id : 64635017227 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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4. THHEHD R BN AT BT ©od (3. 91, off. 59, T 1)

Options:

64535067675, 1
E4E3S0E7ETE. 2
E4EZE0E7ETY. 2
4535067678, 4

Question Number : 96 Question Id : 64635017228 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Match List—I with List=II :

List—I Last-II
(Acronyms of UN (Countries to which they
Peace-keeping are deployed)
Missions)
(a) UNMOGIP (i) Egypt
(by UNOSOM (1)  East Timor (Timor Leste)
(¢) UNTAET (iii) Somalia
(d) UNEF (iv) India-Pakistan

Choose the correct option from those given below :
L (@-=v); (b)-u); (e)-); (A1)
2. (a)-@); 0)Hv); (¢)-Q); (d)(1i)
3. (@-@); 0)1); (e)i); (d)-Qv)
4. (a)-(ii); (b)—1); (e)-1v); (d)-1i)

Options:

64635067679, 1
E4E3S0E7EE0. 2
4635067681, 5
4535067682, 4

Question Number : 96 Question Id : 64635017228 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L (@-v); (b)-(u1); (¢)-1); (dD)~1)
2. (@-); (b)iv); (o)-1); (D))
3. (a)-); (b)-(i); (e)—(ii); (d)-(v)
4. (a)p(ui); (b)-1); (c)iv); (d)-(11)

Options:
EAEZE0EYEFS. 1

EAEZE0E7EE0. 2
EAE35067EE1. 3
EAEZS0E7EEE. 4

Question Number : 97 Question Id : 64635017229 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which of the following vears was the UN Security Council expanded, for the first
and only time, till date?

. 195l
2. 1965
3. 1988
4. 2000

Options:
4835067683, 1
435067654, 2



EAE35067EES. 3
EAE35067E56. 4

Question Number : 97 Question Id : 64635017229 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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I. 1951
2: 1965
3. 1988
4. 2000

Options:

4835067683, 1
E4E3E0E7EE4. 2
64535067685, o
4535067686, 4

Question Number : 98 Question Id : 64635017230 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘Good Neighbourly” relations are vital, in the strategic calculus of a nising power such
as India, for which among the following considerations?

1.  To assert its hegemonic designs in the neighbourhood

2.  To secuntize the neighbourhood, underpinned by the pnnciple of
‘mercantile clientalism’

3. To brnng politico-diplomatic stability and productive economics based
convergence and compact

4.  To culturally monopolize the social identity and profile of its
neighbourhood
Options:
64635067637, 1
64635067688, 2
64635067689, 3
64635067690, 4

Question Number : 98 Question Id : 64635017230 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635067687, 1
E4E3S0E7EEE. 2
E4E3E0E7EE9. 2
4535067690, 4

Question Number : 99 Question Id : 64635017231 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Under the productively unfolding India-US strategic partnership, which landmark
agreement was concluded, at the inaugural *2+2” Dialogue Meet in late 20187

1.  Logistics Exchange Memorandum of Agreement (LEMOA)
2. Communications Compatibility and Security Agreement (COMCASA)

3. Strategic Trade Authorization (STA)-Tier I

4. Defence Technology and Trade Imtiative (DTTTI)

Options:
E4EZE087E91.

EAEZS0E7ETZ,
EAE3506 7693,
BAE3506 76594,

[ N

Question Number : 99 Question Id : 64635017231 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635067691, 1
64535067692, 2
64535067693 2
E4E35087594. 4

Question Number : 100 Question Id : 64635017232 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following, 1s an attnbute that serves as a comerstone constituting
principle of Indian Foreign Policy since Independence?

1.  Sovereign Alliance-Building and Spheres of Influence

2. Non-interference, Non-intervention, Democratization, Multilateralism,
Autonomy and Self-reliance

3. Regime-change through deployment of coercive force

4. Indulgence in arms race, towards heightened militarization

Options:

64535067695, 1
64535067696, 2
E4E3S0E7E97. 2
4535067695, 4

Question Number : 100 Question Id : 64635017232 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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2.

Options:

E4535067635,
E453S0E7E3E,
E4E350E7637.
EAE35067E9E.

Question Number
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: 101 Question Id : 64635017233 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the following signature imitiatives, within Indian Foreign Policy, pertains
specifically to the strategic objectives of advancing Maritime Diplomacy, Maritime
Security and the Blue Economy?

I

Act-East Policy (AEP)

2. Link-West Policy (LWP)
3. Security and Growth for all in the Region (SAGAR)
4. Connect Central Asia strategy

Options:

64635067699, 1

64635067700, 2

64635067701, 3

EAEZS0E7 702, 4

Question Number : 101 Question Id : 64635017233 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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3. AT gt 3 Rerm 3R AF™ (SAGAR)
4. Prec Jd URET I0FI

Options:

64535067699, 1
64535067700, 2
E4E35087701. 2
E4E3E087702. 4

Question Number : 102 Question Id : 64635017234 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In 2015, India and China, as part of Soft Power Compact, had set up the China-India
Yoga College unveiled by the Indian Prime Minister. Identify the place of its location.

1.  Chengdu
2. Kunming
3.  Shanghai
4.  Xi’an

Options:

64635067703, 1
E4E35087704. 2
E4E35067705. 5
4535067706, 4

Question Number : 102 Question Id : 64635017234 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



g8 2015 ® URG R 99 & g A UfR SHIlge & HMT & 0 7 F9-4RG a0
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¥
2. PR
3. TR
4. fRram

Options:

4635067703, 1
4535067704, 2
64535067705, =
4535067706, 4

Question Number : 103 Question 1d : 64635017235 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which vear did India become a full-fledged member of the Shanghai Cooperation
Organization (SCO)?

1. 2017
2. 2001
3. 1996
4. 1991

Options:

64535067707, 1
64535067708, 2
E4E35087709. 2
E4E35087710. 4

Question Number : 103 Question Id : 64635017235 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. 2017
2. 2001
3. 1996
4. 1991

Options:

64635067707, 1
E4E3S08770E. 2
64535067709, 5
64535067710, 4

Question Number : 104 Question Id : 64635017236 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If “Panchsheel” came to define the contours of the Nehruvian mould in Indian Foreign
Policy, then the “Panchamrit’ framework of strategic dimensions and intentions pertains
to which Indian leader’s foreign policy prescriptions?

1.  Narendra Modi
3 Indira Gandhi
3.  Atal Behari Vajpayee

4. Dr. Manmohan Singh

Options:

4835067711, 1
E4E3E0E7712. 2
64535067712,
4535067714, 4

Question Number : 104 Question Id : 64635017236 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635067711, 1
64535067712 2
64535067713 2
E4E35087714. 4

Question Number : 105 Question Id : 64635017237 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In October 2011, the Indo-Afghan relationship reached a new high with the sigmng of
which of the following agreements?

1.  Free Trade Agreement
2. Defence and Military Partnership
3.  Strategic Partnership Agreement

4. Partnership for Peace Agreement
Options:
64635067715, 1
64635067716, 2
64635067717, 3
64635067718, 4

Question Number : 105 Question Id : 64635017237 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635067715, 1
64535067716, 2
64535067717, 2
E4E3508771E. 4

Question Number : 106 Question Id : 64635017238 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match List—I with List—II ;

List-I List—II
(Regional Organization) (Year of Establishment)
() BIMSTEC i 1995
(b) SAARC @) 1997
(c) IORA (i) 2005
(d) East Asia Summit (av) 1985

Choose the correct option from those given below :
L. (@H1); (b)-(i); (e)ii); (d)—-Gv)
2. (a)-(ut); (b)—(); (e)(ii); (d)—(v)
3. (a)-G); (0)iv); (0)-(1); (d)-(iD)
4. (a-v); (b)-(); (e)-(ii); (D)D)

Options:
E4E35067719. 1
E4E35067 720, 2

EAEZE0E7 721, 3



BAGRIS0E7 722, 4

Question Number : 106 Question Id : 64635017238 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

-1 31 11 & A S
g1 -1

CEIREUCED (RUTTT )
(a) dLomE ATy dgd (i) 1995
(b) TH. T U 3R H. (i) 1997
(c) o338l 3R.T (i) 2005
(d) ud ol gHEe (v) 1985
f&u M fisedt ® 9 9 IR 1 99 S ;

L (@)-Q); (b)w); (c)-(un);, (d)-1v)
2. (a)-(u); (b)-(1); (e)-(1); (d)-(v)
3. (@-); (b)1v); (c)-Q); (d)-(i1)
4. (@-v); (b)-); (e)-i); (d)1)

Options:

64635067719, 1
E4E3E087720. 2
E4E35067721. 5
4535067722 4

Question Number : 107 Question Id : 64635017239 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The International North South Transport Corridor (INSTC) is an expansive physical
trade and transit connectivity project, that connects which two strategic partners from
the following?

i; India and China
2. India and Russia
3. India and Myanmar

4. India and Egypt

Options:

64535067723, 1
E4E350E7724. 2
E4E3E0E7725. 2
4535067726, 4

Question Number : 107 Question Id : 64635017239 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

IRIPI IRl oftaes TRt (3ms. ©F. T 3 ) te Jve Hifde AR T
URTHT §Ud ufer 21 g Fafafad § @ 5 €1 wifte gevfidi &1 sgar 82

. YRR IH
2. YRR =N

3. YR 3R =ER

Options:

4635067723, 1
64535067724, 2
64535067725, 2
E4E3S0E772E. 4

Question Number : 108 Question Id : 64635017240 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following was a controversial US strategic imtiative, mooted by George
W. Bush, which India categorically refused to be a part of ?

1.  Proliferation Security Imitiative (PSI)
2. Indian Ocean Naval Symposium (IONS)
3.  Air Defence Identification Zone (ADIZ)

4. Anti-Piracy Patrol (APP)

Options:

E4E35067727. 1
E4E3E0E772E. 2
64535067729, 5
4535067720, 4

Question Number : 108 Question Id : 64635017240 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fofufad J 9 o9 fAaerug smdet WHifde TRaE $f Sie Seeg, I3 7 Wgd [&ar o
forgesT fier €92 § YRd 2 Wyd: SReleR &1 f2ar ur?

1. vifehe Rl simfea . oy amg)

2. 35T SN Taa Rygiors (@ 3. . T9)
3. TR et omsefRireRe W (T St oz, 9i9)
4. T UBRE U @ O o)

Options:

4635067727, 1
64535067728, 2
64535067729, 2
E4E3S087720. 4

Question Number : 109 Question Id : 64635017241 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following countries was not under colonial occupation in South-East
Asia?

I Vietnam
2. Indonesia
3. Thailand

4. Burma

Options:

64535067731, 1
64535067732 2
E4E3E50877332. 2
E4E35087734. 4

Question Number : 109 Question Id : 64635017241 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

far-ud o & Pofifed 8 @ oF-a1 33 iRl anfiva 3 wda w1
1. fggm
2.  ZSHRM

I
4. FHf

L

Options:

4635067721, 1
4535067732 2
64535067733 2
64535067734 4

Question Number : 110 Question Id : 64635017242 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which year was Burma separated from the British Indian Administration?

L. 1925
2 1930
£ 1937
4, 1942

Options:

4635067735, 1
4535067736 2
64535067737, 2
64535067738, 4

Question Number : 110 Question Id : 64635017242 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

i {59 T fafe=r WRdla v=me= 9 Srer gen U

1. 1925
2. 1930
3. 1937
4. 1942

Options:

64635067735, 1
64535067736, 2
64535067737, 2
E4E3S08773E. 4

Question Number : 111 Question Id : 64635017243 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I wath List-II :

List-I List—I1
(Rebellions) (Years)

(a) Taiping Rebellion (1) 1740-1752
(b) Mon Rebellion (1) 1760-1802
(¢) Boxer Rebellion (1) 1899-1901
(d) Tay-Son Rebellion (v) 1778-1788

Choose the correct option from those given below :
L (@), (b)~1); (e)Hiv); (D)D)
2. (a)v); (b)-(); (0)-(); (d)-(1)
3. (a)(in); (b)Hu); (e)-(v); (d)-1)
4. (@) (0)-v); (e)-(); (d)-1n)

Options:

64635067739, 1
E4E35087740. 2
64535067741, 5
4535067742, 4

Question Number : 111 Question Id : 64635017243 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



-1 P FEi-11 § gafed sife ;

-1 G-I
(=) G

(a) drsitnRER (i) 1740-1752

(b) #i=fa=E (i) 1760-1802

(c) iR fAxE (i) 1899-1901

(d) drz-9F fage (iv) 1778-1788
feu U el A 9 98 3T &1 99 Siforg :

L. (a)-(ui); (b)~D); (e)1iv); (d)i1)
2. (a)-Qv); (0)-Q1); (¢)-); (d)1i1)
3. (a)-(i); (b)-(id); (e)~v); (A1)
4. (@-@); 0O)Hw); (-w); (d)-u1)

Options:

64535067739, 1
64535067740, 2
E4E35087741. 2
E4E35087742. 4

Question Number : 112 Question Id : 64635017244 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List—II :

List- List—II
(Treaties) (Years)
(a) Treaty of Saigon 1) 1842
(b) Treaty of Nanking (1) 1855

(¢) Anglo-Siamese Treaty (1) 1860

(d) Treaty of Tientsin (av) 1862

Choose the correct option from those given below :
L (a)-Qu); (b)-(u); (e)—1); (d)-Qv)
2. (a)-Gv); (0)-); (e)-(); (d)(u)
3. (@-); (b)) (e)H1v); (d)—(1n)
4. (a)-); (b)-1v); (0)—(u1); (d)1)

Options:

64635067743, 1
E4E35087744 2
64535067745, 5
4535067746, 4

Question Number : 112 Question Id : 64635017244 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



i1 1 i1 9 gHfed BT :

i1 G-I
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(a) TISTH &I Ty i) 1842

(b) ARG &t Gy (ii) 1855

(¢c) uIQl-Hafte |y (iii) 1860

(d) fao=i= o 9 (iv) 1862
iU TU f[dwedl ° § 9 3T &1 99 S

1 (a)-(w); (0)—(u); (©)1); (d)-av)
2. (@) (b)-Q); (e)-(); (d)~(u)
3. (a)-Q); (0)1); (c)-(v);, (1)
4. (a)-@); (b)-v); (0)-); (d)-1)

Options:
435067743,

EAEZS06 7744,
EAE3506 7745,
BAEZS067 7 4B,

[ R

Question Number : 113 Question Id : 64635017245 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following South Asian Countries has pioneered the concept of Gross
National Happiness (GNH) over Gross Domestic Product (GDP) through its leader,
way back in 1972, and has even enshrined this concept within its constitution in recent
times?

1. Sn Lanka
2. India

3. Nepal

4. Bhutan

Options:



EAE35067 747, 1
BAE35067 748, 2
BAE35067 745, 3
64535067750, 4

Question Number : 113 Question Id : 64635017245 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fofafed & 9 g <féor o < 3 1972 8 e 391 & 9199 ¥ 9o W 3k
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1. i
2. HRd
3. Au@
4. YA

Options:
435067747 1

EAE35067 748, 2
EAE35067 749, 3
BAE35067 750, 4

Question Number : 114 Question Id : 64635017246 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following South Asian Countries has concluded a Free Trade
Agreement with China?

1.  Nepal
2. St Lanka
3.  Maldives

4. Bangladesh

Options:

64635067751, 1
64535067752 2
64535067753 2
E4E35087754. 4

Question Number : 114 Question 1d : 64635017246 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4635067751, 1
4535067752 2
64535067753 2
64535067754, 4

Question Number : 115 Question 1d : 64635017247 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who constitute the “Thugyis’ in Burma?
1.  Burmese ethnic groups
2. Burmese roval clergy
3.  Burmese district admimstrators

4. Burmese Buddhist clergy

Options:
4535067755 1

EAEZ50E7 756, 2
EAE35067 75T, 3
BAE35067750. 4

Question Number : 115 Question Id : 64635017247 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

41 # yifier &17187 B Hea 87
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Options:

64535067755, 1
E4E350877EE. 2
E4E3E0E77EY. 2
64535067758, 4

Question Number : 116 Question Id : 64635017248 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the leader whose maxim was ‘“when the enemy advances, we retreat,; when he
retreats, we pursue; when he 1is tired, we attack’.

1. Ho Chi Minh
2. Vo Nguyen Giap
3.  Mao Zedong

4. Chou Enlai

Options:
435067759,

1
EAEZ50677E0. 2
EAE350677EL. 3
BAEZS0E77EZ. 4

Question Number : 116 Question 1d : 64635017248 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

39 =d1 & UgE i forde! Rigia areg Yi— “S1d g3A- 31 S¢dl g, df 8H U g¢ o 1
TR &I§ 98 Ul ¢ ol & S9® Ul &3 F1eT; O 98 Y& oY, 99 §H 3MMHHU S
Gl

. S
2. 417uS fSmm
3. HRASEFT
4. 9% UqdR

Options:

E4E35067759. 1
4535067760, 2
64535067761, =
64535067762, 4

Question Number : 117 Question 1d : 64635017249 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Which one of the following countries was NOT a part of South-East Asia Treaty
Organization?

1.  Thailand
2. The Philippines
3.  Indonesia

4. Palastan

Options:

64535067763, 1
64535067764, 2
E4E3S0E77ES. 2
E4E3E0E77EE. 4

Question Number : 117 Question Id : 64635017249 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Frofafag 9 oF-91 < <faor-ud ol Sf) 91a= 1 e s
1. yEds

2. Tpetdig
3. ssHRmE
4. Ul

Options:

E4E350677E63. 1
E4E35067764. 2
4535067765, o
64535067766, 4

Question Number : 118 Question Id : 64635017250 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In which year did Aung San Suu Kyi recerve the Nobel Peace Prize?

1. 2002
2. 2008
3. 1991
4. 2015

Options:

64535067767, 1
64535067768, 2
E4E3S0E77E9. 2
E4E3E0E7770. 4

Question Number : 118 Question Id : 64635017250 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. 2002
2. 2008
3. 1991
4. 2015

Options:

4635067767, 1
64535067768, 2
64535067769, 2
E4E3S087770. 4

Question Number : 119 Question Id : 64635017251 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Jose Rizal” was an early nationalist leader from which one of the following South-East
Asian Counfries?

1.  The Philippines
2. Indonesia
3.  Malaysia

4. Cambodia



Options:

64535067771, 1
E4EZS0E7T7Z. 2
E4E3E0E7772. 2
4535067774, 4

Question Number : 119 Question Id : 64635017251 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4, DS

Options:

E4E35067771. 1
E4EZE0E777Z. 2
64535067773, o
4535067774, 4

Question Number : 120 Question Id : 64635017252 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following countries is called the “Switzerland of the East™?

Thailand

o

2. Malaysia
3.  East Timor

4. Singapore

Options:

E4E35067 775 1
4535067776 2
4535067777, o
64535067778, 4

Question Number : 120 Question 1d : 64635017252 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
E4E35067 775 1

EAEZS0E7 777G, 2
BABIS0E7 777, 3
BAEZ5067 778, 4

Question Number : 121 Question Id : 64635017253 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following countries eliminated the Indiamsed Kingdom *Champa’?

1.  The Philippines

2. Vietnam
3. Cambodia
4. Laos

Options:

64635067779, 1
E4E3S0877E0. 2
E4E350677381. 5
4535067782, 4

Question Number : 121 Question Id : 64635017253 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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2. fdga=m
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Options:



BAE35067 77391
BAE35067 780, 2
B4E35067781. 3
4535067752, 4

Question Number : 122 Question Id : 64635017254 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following West Asian countries is an oddity, in that, it has an outfit
that participates within the political system, but is also accused of engaging in terror,
thereby called a “State within a State’?

L Sudan
A5 Lebanon
3, Jordan

4, Iran

Options:

64535067783, 1
64535067734, 2
E4E350877E5. 2
E4E3E0E77EE. 4

Question Number : 122 Question Id : 64635017254 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. IEH
2. @
3. Sled

4. =

Options:

E4E35067 753, 1
4535067784, 2
64535067785, o
645350677386, 4

Question Number : 123 Question Id : 64635017255 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Arrange the following strategic initiatives at economic growth on the African continent
in ascending chronological order with the help of the codes given below :

(a) Afncan Continental Free Trade Agreement (AfCFTA)
(b) Lagos Plan of Action

(¢c) African Growth and Opportunity Act (AGOA)

(d) AGENDA 2063 : The Africa We Want

Codes :

1. (@), (b), (c), (d)
2. (b),(d), (@), (c)
3. (o), (@, (). (d
4. (b),(0), (d),(a)

Options:

64635067787, 1
E4E3S0E77EE. 2
64535067739, 5
4535067790, 4

Question Number : 123 Question Id : 64635017255 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) bl Di<i-ed Wl g8 WiE= (T %, ¥, T%. <1 )
(b) @I I 3 Ve

(c) 3MPie= Y US e Uae @, Sff. 3. 0)

(d) TITT2063: T pIHTH AT

e :
1. (@), ®), (),
2. (b),(d),(a),(c)
3. (¢), (@, (), (d)
4. (b),(c), (d), (a)
Options:

E4E350E77E7. 1
EAEZS0E77EE. 2
EAE35067789. 3
BAEZ5067 730, 4

Question Number : 124 Question 1d : 64635017256 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

When was AFRICA Fund set by the NAM?

1. 1955
2. 1983
3. 1986
4, 1993

Options:

4635067791, 1
4535067792, 2
64535067793 2
64535067794, 4

Question Number : 124 Question 1d : 64635017256 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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I. 1955
2. 1983
3. 1986
4. 1993

Options:

64635067791, 1
64535067732, 2
64535067733 2
E4E35087794. 4

Question Number : 125 Question Id : 64635017257 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following Central Asian Republics (CARs) has a declared foreign policy
of ‘Permanent Neutrality” and has incorporated the same within its Constitution?

1.  Tajikistan
2. Turkmemnstan
3. Uzbekistan

4. Kazakhstan
Options:
E4E250E87795. 1
EABZE0E7 796 2
EAG35067797. 3
BAG35067 7598, 4

Question Number : 125 Question 1d : 64635017257 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fofertaa d 9 g aw ol e @& em) 7wyt gowar 3t Rew Sifa mita i 8
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1. dfeiesm
2. JoHFEH
3. SoeiewR
4.  HEEEE

Options:

45350677935,
4535067796,
64535067737,
64535067738,

o LI M

Question Number : 126 Question 1d : 64635017258 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match List—I with List-II :

List-1 List-I
(a) Al-Qaedain the Islamic Maghreb (1)  Mal
(AQIN)
(b) Boko Haran (1) Nigena
(¢) Al-Shabaab (ii1) Uganda
(d) Lord’s Resistance Army (iv) Somalia

Choose the correct option from those given below :
1. (@)-(il); (Wi); (e)-v); (A1)
2. (@-@); ®)-w); (e)-(v); (d)11)
3. (@-(v); (0)-Q); (e)—(u1); (d)-(11)
4. (@) (b)-(ii); (e)—1); (d-Qv)

Options:
4835067799, 1
E4E35067500, 2

E4EZ5067801. 3



EAE3506780Z. 4

Question Number : 126 Question Id : 64635017258 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

-1 &1 Gel-11 F FHferd i :

i1 A1
(a) od-HRGI3 G elH® Had (1) Hret

(T G, 313. TH)
(b) «igH (i) ot
(c) o@-Y9d (iii) greT
(d) wrsd ey o (v) e
feu U Rewl @ ¥ 98t IR &1 9 Sifeu :

L (a)-i); (0)-(1); (©)-1v); (d)-1)
2. (- (b)) (e)-(v); ()
3. (a)-Qv); (b)-Q); (¢)-(m); (d)~11)
4. (a)y-(u); (b)-(ui); (¢)-(1); (d)-(1v)
Options:
64535067739,
EAE2E06 7200,

EAE35067801.
EAE3506 7802,

o LIRS

Question Number : 127 Question Id : 64635017259 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match Last—I with List—II :

List—I List—II
(Countries) (Heads of States)
(a) Kazakhstan (1)  Shavkat Mirziyoyev
(b) Kyrgyzstan (11) Emomali Rahmon
(¢) Tajlastan (1)  Sooronbay Jeenbekov
(d) Uzbekistan (1v) Nursultan Nazarbayev

Choose the carrect option from those given below :
1. (@) (b)), (e)~(u1); (d)—(1v)
2. (a)-Qav); (b)-u); (e)-(); (A1)
3. (@), (b)—(u1); (¢)—1); (d)Hin)
4. (@-1); (b)), (1), (d)-Hair)

Options:

64535067803, 1
E4E35087E04. 2
E4E35087E05. 2
4535067806, 4

Question Number : 127 Question Id : 64635017259 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 B gEi-11 | GAfed SHifore
-1 a1

(@ RTaTened)
(a) DOTERAH (i) ed ffaRs
(b) fepritorears (i) wHHEE
(¢) dIfeiieE (i) W SreeE
(d) o= (iv) Y™ FoRarEad
feu T e | 9§ 5l ITR BT 79 Diforg -

1. (@) (b)-1); (c)(iii); (d)-v)
2. (a)-(v); (b)), (c)-11); (d)-1)
3. (a)-(v); (b)-{ii); (o)1), (d)-(i1)
4. (@)-(1); (b)-(iv); (c)—{i); (d)-(ii1)

Options:

C4EZE0EFEDS. 1

C4EZE0E7FE04. 2

E4E535067805. 3
E4535067806. 4

Question Number : 128 Question 1d : 64635017260 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
Which one of the following is the most recent Afiican territory to acquire Sovereign
Independence?
1.  South Sudan
2. Biafra
3.  Western Sahara

4. Somaliland

Options:
64535067807, 1
E4E35087E08. 2

E4BZ50E7E09. 3



EAE35067810. 4

Question Number : 128 Question Id : 64635017260 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frafefed ® 3 g enpie! vex o1 fiepa gra # Juy dsa A 87

. cRvgsH
2. Togmer
3. i3 geR

4.  OHEEdES

Options:

64535067807, 1
645350673808, 2
E4E35087209. 2
E4E35087E10. 4

Question Number : 129 Question Id : 64635017261 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The ambitious project that goes by the acronym of ‘TAPI’ involves which of the
following countries?
1. Tajkistan, Afghamstan, Pakistan, India
2. Turkmenistan, Azerbaijan, Pakistan, India
3. Tajikistan, Afghanistan, Pakistan, Iran

4. Turkmemstan, Afghanistan, Pakistan, India

Options:

648350675311, 1
E4E350673812. 2
64535067812, o
64535067814, 4

Question Number : 129 Question Id : 64635017261 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. o, SMETmi-dr, U™, HIRd
2. JHHHH, ORI, Ui, HRA

3. T, ST, T, $3
4., JouEE, B, TfewdH, HIRd

Options:

4635067811,
64535067812,
64635067313,
4835067314,

[ N

Question Number : 130 Question Id : 64635017262 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) :  Once known as the ‘Dark Continent’ Africa is now famed as the
‘Rising Continent’ in global affairs.

Reason (R) . Once seen as a region, only for conflict, underdevelopment and
societal upheaval, Africa i1s now being defined by greater
democratization, good govemance, regional cooperation,
technological change and finaneial inclusion.

In the context of the above two statements, which of the following is correct?
1. Both (A) and (R) are not correct
2. (A)is correct, but (R) is not correct
3. (A)is not correct, but (R) 1s correct

4, Both (A) and (R) are correct

Options:

64535067515,
64535067316,
E4E35067317.
4635067318,

o P

Question Number : 130 Question Id : 64635017262 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

645350675815, 1
64535067816, 2
E4E350E7ELY. 2
E4E3E0E7E1E. 4

Question Number : 131 Question Id : 64635017263 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The NATO signed an important agreement with the European union in 2016, in which
one of the following cities, that also happens to be named after its Cold War rival
alliance?

1. Berlin
2. Moscow
3. Warsaw

4. Bonn

Options:

646350675819, 1
64535067820 2
64535067821, 2
64535067822, 4

Question Number : 131 Question 1d : 64635017263 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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1. §fe=
2. HEDI
3. 9
4. 99

Options:

646350675819, 1
64535067820, 2
645350673821, 2
E4E3S087E22. 4

Question Number : 132 Question Id : 64635017264 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following is regarded as one of the Founding Fathers of the European
Union?

1.  Jean Monnet
2. Tony Blair
3.  Angela Merkel

4, Francois Mitterrand

Options:

64635067323, 1
E4E3S087E24. 2
645350673525, 5
4535067826, 4

Question Number : 132 Question Id : 64635017264 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. SiFHEE
2. TR
3. USid A

4.  ThordiRig

Options:

64635067823, 1
64535067824, 2
64535067825, 2
E4E3S0E7E26. 4

Question Number : 133 Question Id : 64635017265 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The European Union came into being in which one of the following vears?
1. 1991

2. 1993
. 189

4. 1996

Options:

64635067327, 1
E4E3S0E7E2E. 2
4535067529, 5
64535067820, 4

Question Number : 133 Question Id : 64635017265 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fafeigd | 9 g a9 § gRIU 99 &1 7137 geim
1. 1991
2. 1993
3. 1995
4. 1996

Options:



EAE3I5067E2Y. 1
BAE35067828. 2
BAE35067825. 3
64535067830, 4

Question Number : 134 Question Id : 64635017266 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following European powers were involved in the 19th century ‘Old Great
Game’?
1.  France and Great Britain
2. Germany and France

3. Russia and Germany

4. Great Britain and Russia

Options:

48350675331, 1
E4E3E0E7EZZ. 2
64535067822, o
4535067824, 4

Question Number : 134 Question Id : 64635017266 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Foftad | ¥ HH-4 g Mieddl 193 Idrsdt & <3iies e 19 | 2nihe o
1. M 3R I T
2. oA SR B
3. =9 AR FHA
4. FefToREd

Options:

4535067531, 1
64535067832, 2
64535067832, o
64535067834, 4

Question Number : 135 Question Id : 64635017267 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The statement “Eurasiamsm 1s the fusion of Europe and Asia into a super continent™ is
attributed to whom?

1.  Vladimir Putin
2. Nursultan Nazarbayev
3.  XilJinping

4 Bruno Macaes

Options:

64835067335, 1
E4E3E0E7EZE. 2
64535067837, o
4535067828, 4

Question Number : 135 Question Id : 64635017267 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. SAGHR gia
2. Y ToRaNd
3. =it fomftm

4. F gHOE
Options:
64535067835, 1
64535067836, 2
64G35067827. 3
GAER3E0E7E2E. 4

Question Number : 136 Question Id : 64635017268 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List-II :

List-I List-II
(Leaders) (Events)
(a) Brezhnev (1)  Perestroika and Glasnost
(b) Stalin (11)  Bolshevik Revolution
(¢) Gorbachev (111)  Brezhnev Doctrine
(d) Lemn (1v) World War Il

Choose the correct option from those given below :

L (a)-); (b)1); (e)~(uw); (d)-(v)

2. (a)(u);, (B-(v); (0)-@); (d)i1)

3. (a)p(v); (b)-(i); (e)-(1); (A1)

4. (@) (b)-av); (e)-); (d)uD)

Options:
64635067839,
64635067340

EAE35067841.
BAE3506 7842,

[ N

Question Number : 136 Question 1d : 64635017268 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



eI 1 gEi-11 ¥ gAfed SHifo
a1 el

(e (FIeTd)
(a) SoMg (i) URIEDUs THARe
(b) e (i) SRS RateR=
(c) TiEra (i)  sieHa Rigia ST
(@ e (v) fedm fawgs
fen Tt e 3 9 98 I &1 997 S :

L. (@-@); (b)11); (c)(11); (D)—(1v)
2. (a)-(u); (b)~1v); (c)-(1); (d)—1)
3. (@-Qv); (b)-Gib); (e)-(D); ()1
4. (a)-(1); (b)-(v); (c)-); (d)-(i1)

Options:

645350678239, 1

64535067340, 2

4535067541, 3
EABE3S067842. 4

Question Number : 137 Question Id : 64635017269 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following made the statement that “*Nation 1s a historically evolved
stable community with four main features such as community of languages, territory,
economic life and a psychological make-up manifested in a community of culture?””

1.  Vladimir Lenin
2. Karl Marx
3.  Fredenc Engels

4. Joseph Stalin

Options:
64635067343, 1
64535067844, 2



EAE35067845. 3
BAE35067846. 4

Question Number : 137 Question Id : 64635017269 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. IGHR R
2. ®Id A

3. ehe o
4. SN IR

Options:

645350675343, 1
E4E35087E44. 2
E4E35087845 =2
64535067346, 4

Question Number : 138 Question Id : 64635017270 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following Islands is at the core of the ‘Japan-Russia® maritime dispute?
1. Kuril Islands
2. Senkaku/Diaoyu Island
3.  Nansha Islands

4, Paracel [slands

Options:

645350675847, 1
E4E35087E48. 2
E4E35087849. 2
4535067850, 4

Question Number : 138 Question Id : 64635017270 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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2. g/ g
3. SR EIOEEE
4. HEE gUagg

Options:

E4E35067547. 1
64535067848, 2
64535067849, o
64535067850, 4

Question Number : 139 Question Id : 64635017271 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Enlist the following regional institutions in ascending chronological order of their
establishment with the help of the codes given below :

(a) Organisation of American States (OAS)

(b) Commumnity of Latin American and Caribbean States (CELAC)
(¢) MERCOSUR (Southern Common Market)

(d) Umon of South American Nations (UNASUR)

Codes :

L (a),(c), (b), (d)
2. (a), (), (c)(d)
3. (@),(0),(d), ()
4. (D, (@), (). (c)

Options:

4835067351, 1
645350673852, 2
64535067852, o
64535067854, 4



Question Number : 139 Question Id : 64635017271 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

M Ru T g F geEar | Pufafea Swnet @ 39 ™I F ey SR
DITHHEIR TARYT HIFoT -

(@) SISO 31 AR Ky (311, U TH)

(b) DR 3p dfe Mo Us SifvaT wWoy @ 2 9@t v )
(¢) TUH Z R . 3N 09, g, 3R, (J3e- 107 ")

(d) =g o 913y SMe= 234 (4, 7. T.T9. g, 3R

e
. (a), (o), (b), (@
2. (@), (), (), @
3. (a),(),(d), ()
4. (d),(a). (0). (c)
Options:

E4E35067851. 1
EAE35067852. 2
E4535067853. 3
64535067854, 4

Question Number : 140 Question Id : 64635017272 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following Latin American rebel groups entered into a historic Peace
Deal with the government, in late 2016, ending the longest running insurgency in the
world?

1. ZAPATISTAS
2. FARC
3. Shining Path

4. SANDINISTAS

Options:
64635067355, 1
64535067556, 2



EAE3506785Y. 3
E4E35067858. 4

Question Number : 140 Question Id : 64635017272 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fofafeg & | 59 afts emdiat g 99 3 g~ ¥ 999 dara a o= aret Sad
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2. UG.T IR

3. SRETNY
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Options:

64535067855, 1
E4E35087E56. 2
E4E3E087EEY. 2
64535067858, 4

Question Number : 141 Question Id : 64635017273 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which Latin American country, though was a Dutch Colony, is home to significant
ethnic Indian origin population?

1.  Guyana

2 Suriname
3. Haiti

4, Cuba

Options:

64535067859, 1
64535067860, 2
64535067861, 2
E4E3E0E7EEZ. 4

Question Number : 141 Question Id : 64635017273 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. @
2. M
3. &

4. TEI

Options:

64635067859, 1
64535067860, 2
64535067861, 2
E4E3S0E7EE2. 4

Question Number : 142 Question Id : 64635017274 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Cuban Missile Cnsis (1962) marked an event, that represents which among the
following?

1.  Heightened tensions that brought the region of the Americas and the world
to the brink of a Nuclear War.

2. Tensions emanating from Cuba’s desire to acquire Nuclear weapons, as
effective deterrence against the US.

3. The Soviet push to make Cuba acquire weapons of Mass Destruction based
on intelligence inputs of a US action for Regime change in Cuba.

4. US attempts to mastermind the assassination of Cuban leader Fidel Castro,
through a mimaturized mssile fitted within a Cigar.

Options:
E4E3506 7563,

1
EAE35067 864, 2
E4E35067865. 3
EAE3506 7866, 4

Question Number : 142 Question 1d : 64635017274 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635067863, 1
64535067864, 2
645350673865, 2
E4E3S0E7E66. 4

Question Number : 143 Question Id : 64635017275 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which country in the Americas was being courted by China for building an alternate
Canal to the existing Panama Canal?

1. Nicaragua
7. Venezuela
3. Honduras

4.  EL Salvador
Options:
E4EZ50E78E7. 1
EABZ50E7E68. 2
EAG350678659. 2
BAG35067870. 4

Question Number : 143 Question 1d : 64635017275 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frofefad smdie! S § A f5ae! 9= & gR1 IdH= TTH1 78X & 91 U6 3 dohels g
& Pto & forw o= uer & 9F &1 var far o w@re?

. FormEen
2. SeguEn

3. B
4, 3 UQ 9@SR

Options:

E4E35067E67. 1
E4E3E0E7EEE. 2
64535067869, o
4535067870, 4

Question Number : 144 Question Id : 64635017276 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following States in the US i1s not impacted by Mexican immigration
to the US?

1. Arnzona
2. New Mexico

3. Texas

4. Florda

Options:

4635067571, 1
4535067872 2
64535067873 2
64535067874, 4

Question Number : 144 Question 1d : 64635017276 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E4E35067571. 1

EAB3S0EFE7Z. 2
EAE3IS0E7E7 3. 3
BAEZ5067874. 4

Question Number : 145 Question Id : 64635017277 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match List-I with List-II :

List-I List-II

(US Presidential Doctrines) (Years)
(a) Monroe Doctrine (1) 1980
(b) Theodore Roosevelt Doctrine (i) 2002
(¢) Carter Doctrine (i) 1904
(d) George W. Bush Doctrine (iv) 1823

Choose the correct option from those given below :
I (@)-Q); (b)), (¢)(1i1); (d)-(1v)
2. (@), (b)iii); ()iv); (D)
3. (@-(iv); (b)—Gid); (e)(1); (d)(id)
4. (@)-(u); (b)Hn); (©)—); (d-av)
64635067575 1

E4E350E7E7YE. 2
EAEZS0EFE7 Y. 3



EAE3IS0E7E7E. 4

Question Number : 145 Question Id : 64635017277 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

eI &l GEi-11 T gaferd Sifor ;
-1 -1

(3, T8, prsfRea sifee) (a)
(a) | SifacA (i) 1980
(b) TSR FHdw Sl (i) 2002
(c) IR SMtag (iii) 1904
(d) Wilel Sseg, g9 Sifag (iv) 1823
fou U faw el B 9 et IR &1 99 Bifeid ;

L (@)-@); (b)), (e)iii); (d)-(v)
2. (a)-); (b)(i); (¢)-(v); (D)D)
3. (@-v); (b)-(un); (e)-(1); (d)-()
4. (a)-(u); (b)-(i); (©)~1); (d)-(v)

Options:

E4E35067E7E.
4635067576,
4535067877,
64535067878,

[ R

Question Number : 146 Question Id : 64635017278 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

How to mitigate environmental pollution?
1.  Stopindustrialization
Adoption of long-term planning for development and disaster management

Ban on chemical use

L

Introduction of eco-friendly transport system

Options:
64535067579, 1
64535067880, 2



EAE350678E1. 3
BAE35067882. 4

Question Number : 146 Question Id : 64635017278 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TiaR & UEEU &1 SULHA 59 U 5 o gerdr 22

1. SEFfox e

2. oo ud smug vEYE B Qa@Tas drel T80T Y
3. TN verdl R piaey @me
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Options:
E4E350675749. 1

EAEZ5067850. 2
E4E35067881. 3
BAE35067882. 4

Question Number : 147 Question Id : 64635017279 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What is the major cause of ecosystem imbalance?
1. Industrialization without pollution control measures
% Growth of infrastructure build-up
3. Dumping of wastes
4

Erecting of mobile towers
Options:
64635067883, 1
646350673884, 2
64635067885, 3
64635067836, 4

Question Number : 147 Question Id : 64635017279 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TiRfRufae! # SRges & &1 SR §7
1. vesu A & Iudl )R o= R e IR
2. SYRYT SE e FEimdE afs
3. SR el Ht 37 ST
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Options:

E4E35067553. 1
64535067884, 2
64535067885, o
645350678586, 4

Question Number : 148 Question Id : 64635017280 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

How is the destructive potential of natural hazard estimated?
1.  Through the mumber of deaths
2. Through spatial extent and severity
3.  Through newspaper reports

4. Through aerial surveys

Options:

4835067387, 1
E4E3E0E7EEE. 2
64535067889, o
4535067890, 4

Question Number : 148 Question Id : 64635017280 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535067887, 1
E4E35087EEE. 2
E4E3E0E7EE9. 2
4535067890, 4

Question Number : 149 Question Id : 64635017281 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which is the effective early wamning system for environment protection?
1. Personal communication
2. Media campaigns

3.  Introduction of effective technmques for forecasting and communication
system

4. Evacuation of population

Options:

64835067391, 1
4535067892, 2
64535067892, o
64535067894, 4

Question Number : 149 Question Id : 64635017281 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Frofafad ® 9 o1F-91 waiatu &1 JRen 3g YoHd H IdE-1 &7 S THIE! STaw1 82
1. dofEs gag
2. Hitsan sitdaE
3. UEHHE a1 $9R a1 & fod g daier &1 TR & S
4. il 1 gHIi & 9 g

Options:

64835067391, 1
E4E3E0E7E92. 2
64535067892, o
64535067894, 4

Question Number : 150 Question Id : 64635017282 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which is/are the natural disaster(s)?
1.  Cyclones, earthquakes, floods

2. Accident
3.  Building collapse
4. Arson

Options:

4635067395, 1
4535067896, 2
64535067897, 2
645350673898, 4

Question Number : 150 Question Id : 64635017282 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Rafifad A 3 siF-91/8 uefie s 8/8?
1. =aE, YU AR 9

2. g

3. UHH B TR
4. 3T

Options:

64535067395, 1
E4E3S0E7E9E. 2
E4E3E0E7E97. 2
4535067898, 4



